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Held on 10-05-2013 A
== -— — -
INSTRUCTIONS TO THE CANDIDATES LN
(Read the Instructions carefully before Answering) “‘J;

Separate Optical Mark Reader (OMR) Answer Sheet is supplied to mﬂlbnﬂ with Question
Paper Booklet. Please read and follow the mnummﬂunmnstm&huu the responses
and also the required data. ;“.\ o

Candidates should write the Hall Ticket Number only in the s;mcn pmlr,-tftd on this page and’
OMR Sheet. Do not Write the Hall ticket number nnjmhe.ré g\ V

Immediately on opening the Question Paper Booklet hmﬁ.@nﬂ the paper seal please

check for (i) The same booklet code (A/B/C/D) op nﬂ: , (i) Serial number of the
questions (1—160), (iii) The number of pages and I,'Hj rinting. In case of any defect,
please report 1o the invigilator and ask for rcpln:m:plmmm booklet code within five minutes
from the commencement of the test. »

Electronic gadgets like Cell Phone, Pager, Ca!-:nldur Mm walches and Mathematical/Log
Tables are not permitted into the rxammmﬂn.]ﬂ{ 2

Darken the appropriate circles of 1, 2, 3pH D WDMR sheet corresponding to correct or the
most appropriate answer to the conce stlon number in the sheet. Darkening of more than
one circle against any question mmthuuy‘ﬁmnuhdmd

Rough work should be dmuunh:mﬂ'agspa&mwd:d for this purpose in the Question Paper Booklet.
Once the candidate enters the f@:Unmﬂn Hall, he/she shall not be permitted to leave the Hall

1l the end of the Exmuua}mu

Ensure that the Invigila “!.]'her signature in the space provided on Question Paper Booklet
and OMR Answer Slmet. :m.l!idau: should sign in the space provided on the OMR Answer
Sheet and filled in q}ﬁl@mm;l form.

The candidate shﬁg?ﬁ\nu the Question Paper Booklet number, OMR Answer Shect number,
sign in the space ayided in the Nominal Rolls and affix the lefl hand thumb impression in the
nominal mlihp ‘.I:'Hkﬂ in application form.

Return the € il-ln._ik d}mn.-.«-.-f Sheet to the Invigilator before leaving the examination hall. Failure to
return m&.ﬂi is liable for criminal action. The Question Paper Booklet shall be taken away by
the gfin ¢ and should be preserved till the declaration of results.

i F,;ﬂ-.-d"!ﬁ\ﬁpphcatmn form shall be submitted to the invigilator in the examination hall. (Enclose

qﬂ:mﬂ’ copy of Caste Certificate in case of SC/ST candidates only).

=

hts booklet consists of 61 Pages for 160 qucsﬁﬂns + 2 Pages of Rough
Work + 1 Title Page i.e. Total 64 Pages.
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Time : 3 Hours ¥ 5 A by Marks : 160

Instructions :

(i} Each question carries one mark. "
08 (DN uf Sndy, feds, ES..

{ii) Choose the correct or most appropriate answer from the gnmnptmmn&reﬁ:llmmwcm;-:
and darken, with blue/black ball point pen the comesponding digit 1, 2, 3 or e
pertaining to the question number concerned in the OMR Answer Sheet, w;& 0]
you. ---..Hn:f
83 adyd B8 (BNH sdgedd T8 HOTI a4 QD oD
rdod wol¥ 1, 2, 3 ¥4 4 T adyd OMR ssres Jgied pio

SowoRodd Bopgie DAL wr/gs od droved ‘.:M\i’..an‘nua Jodd v,

"'\-\. "'\.\ .I'
) BOTANY /. rﬁt
NN )
1. Study the following lists O

List-I List-11 MOy
(A) G, phase {1y Fusion of mtmtubulﬂ’h n:.ﬁé spindle apparatus
(B) Prometaphase (lI) Production of :n:r@ﬁ‘)-cq"uhd for spindle formation
(C) Anaphase (111) Recombination ¢ genelié material
(D) Pachytene (IV) Contraction of wbulin proteins

(V) Rnppmqnm of plasmosome
6 (Jod whoud wggdhdo ﬁmdﬂ.“‘i

Dol AN wbel
(A) G, 84 »f' O, ;’::-1 TOde 50N Sod 3080 IEyELo
(B) Pas: S8gp & .: o™ ['t‘r'} $03 ".'.'aﬂ!‘{ﬁu Scirb2 winomThy 18 6833
(C) Sod &4 J_,FEH ] {[I'i} wiag Sorg YmeTiraido
(D) 245 o[ ij (IV) &rgDO5 @'dSen Hof*So Toddo
r’F"“‘x W (V) 2% ¥Soes SON |DagESarbe
The correct maich is~, “uy/

@l HOTHS ﬂ"a;a,%“
(A) ~1EL
(1) (" l'?j? A1y CIH}
&) WA E}"} ™
(i)
ﬂi;r ™) _om

Rough Work -
mﬁ'
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In a DNA fragment,"there are 8 turns, with 40% of the bases are cytosine. What would be
the total number of hydrogen bonds present in this DNA fragment ?

©¥ DNA poddod’ 8 Dodeorews, Food 40% HEL5w fof). (& DNh
poddod’ Budo I &8'uS vogrw dotron? AN
(1) 96 €2) 192 (3) 224 (4) 60

i — il

The cell organelle bounded by single unit membrane which wags first rnfmﬂci i;ljf Rhodin
is involved in the following reaction : "

(1) conversion of serine to hydroxyvpyruvate
{2) conversion of glycine to serine 'ty
(3) conversion of glycerate to PGA r N

(#) formation of glycolate from phosphoglycolate Y

5585 Voo Inde I DYS ¢ BIrmégso 5o ﬁwnnd & B0l 2 WEgS
T otood ? DN

(1) %865 ZrEd2ddsr drddo NN

(2) 713;5 =85m Srddo

(3) n:::.a‘E PGAm Srddo

(4) ﬂ'ﬂ‘aﬁﬂ"?ﬁﬁ S0d HE‘HJ ﬁﬁﬁrﬂ‘éﬁu

—

Identify the correct pair of statements from" thh 'fultnmng
(I) Pericycle of dicot root pa:tn:chymhm‘nﬁ 'bul sclerenchymatous in mature monocot root,
(1) Pericycle cells of both dicot and mnm:mm roots actively divide to produce lateral roots

during secondary growthi- -
(111y All cells of endodermis a.raf pqss:qg: c:lls in dicot root.

l,’[\-’] Xylem always produced. in a l:mmp-:tn] manner in the roots of fruit bearing plants.
& (Sodad S0l BIJS .-'.:I*gqasu &40 Asfodadm

() ogs¢ bHa Js ’:ﬂ:ﬁﬂ /BBS|f0 5338 fmerodindo s 38035 JESY
Fos'as &ydivegEnso

() a3s¢ e, (@id¢ bero Bodo F¢s' 03¢ e Erloom
Dfmdoo Moy, Og8ch H)@J0 >dyg I dOySHFes

(nn ags¢ bg\e Heaast wodi)d; fwrod) ToE Lad

(V) Soded v I¢) s Isypdr Johad 2gad' Joydediob.

The mn‘e:‘r answer is

2l _a&_i'&,a o T

(1)), (1 (2) (mm, (Iv) @ 0. an @ M, av)

Rough Wark
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5. Study the following lists
List-I List-I1
(A) Tyloses (I} Coenocytic
(B) Periderm (T} Adaxial epidermis
(C) Motor cells (IlI) Complementary cells
(D) Laticifers {IV) Heart wood
(V) Conjunctive tissue
& (208 wrDeos wigahdo Jakod |
e~Dor-1 wDo-11 _
(A) ES*S5e M wirs Sogg-pas,
(B) $83830 () sy wsdEio
(C) &b fore (M) HoFgE gemes
(D) &b BB (V) wodgre: )
(V), 80884 ¥meroo
The correct match is -
ad HOTA £doYy
(A) (B) (©) (D)
(M an @ M (V)
@m v ® -
@ avy m o M
@ avn o an Ve
6. Collocytes which provide mechanical strength to the plants are present in
(1) Dicotyledonous moet) 2) Dicotyledonous stem
(3) Monocotyletlendus-i¢af (4) Monocotyledonous stem
BwfHoh cﬁro@a‘.'uw:ﬁl ady Fgdy A0d sosron
(1) agsd Bane a6 (2) ags¥ baro sodo
(3) WSE bare diSo (4) D¥8¢ bero sodo
an#.':?nt:_t ;
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7. Study the following.lists

Li!I!-ll'lsI I cCl Lh:::ili lant ities )
A) AG assiiy ant commumnit
EEj:: Warmi;g i (II) *Structure I;nd function of Nature™ ‘Vﬁ
(C) Odum (L[} Term—*Biosphere’ 4 )
(D) Reiter (IV) Term—"Ecology’ 62 _‘[)
(V) Term—'Ecosystem’. r-x\}u
é (Bo8 derod wdgahido Tdod / I\\\b/?
aDor-1 arDa-11 \
(A) d.a. 5% 1) 3noE), Sodpros E q@ﬁé
(B) =80k (M “@5,8 Joymo, .
(C) L85 (1) ‘Barddna’ Q}_,s
(D) &&B (V) ‘e rag'
V) ‘wsd %
The correct maich is ﬂ:}m - /]
28 28THD £FdoY ™ N;\.;?
(A) (B) (C) (D) L, \_;'j
(h (V). Iy dan- {dv) B -
(2) (- ) M (1) ~Ab J
(3) av) @n vy (1 i
@ av) an v o A

8. Entry of pollen tube into the ovule throtgh chalaza was first discovered by Treub in a
xerophyte. This plant is associated hﬁmm Q?l' characters given below
(1) Unisexual flowers p T’\zf

N
(1) Sessile flowers V w
WEES,
5 ]

(111} Centripetal arrangement ©
(IV) Bisexual flowers

Serer orgor wodoS'd B O){mﬂr:}l o8 Qa0 BwE) " |ord S 3ndd
o SKMTyd. 6 (BB FES D ofmro ud 6 B S HowodoDID?

() DE0onE Hpayed O

(1) S)odd% & Papey

() Soicp>d :‘_uj!" Do vBds

(1V) Bg0org :z%):a

The correct pair 15—

2l H6 A

(1) (1 gﬂ (2) (m, (V) (3) @, av) G (), (D)

o e
>
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9.  Assume that blue flower of a plant'is dominant character over the white. When a blue
flowered plant is crossed with white flowered plant, the progeny showed 50% of plants with
blue flowers and 50% of plants with white flowers. The genotypes of blue and white parents
respectively are —
20 doib Rirjo Seldold P oD ods vino vl Prlodod. HDYOME i’a.ﬂ-am
fo H M By Pdpw Ao s Lofdme Fabm L0 Sosed* 50%
e V0 Posr w0l 50% BoH o Beod P o 580 aayon. A0
8l FuY Prjw o 238 IsHo adg Srdw 65T g0 avbrow

(13 Bb, bb (2) bb, bb (3) BB, Bb /~(4)- BB, bb
10. Study the following lists NN
List-1 List-JF
(A) Turill (1) Tigsue qultine
(B) Goethe (1) Pollen graivis
(C) Salisbury (l11) Nucleogome
(D) Oudet (IV¥Flover—a modified stem

A6 Stomatal index
& S0 ool sdgahio i’!uﬁam_ﬁ-'ﬁ._-. /

Do LNY) wbe-n
(A) $0&  ADONY fewe sgse
(B) '@ AN M) sord Bredyes
(C) >0%5wd D) an srgieeas
(D) o3& (. " (IV) P& yo-srd)Teds sodo

; (V) 8808 a8

The correct match i.si-'

B8 HOTHI ﬁ"if:'@
(A) B OAS D)
M A (D V) (V)
@ vy - an avy
3 @0 an
W m, avy o am

lhfl_p';lfn'ﬂl
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11. Study the following lists

List-1 List-I1

{A) Apices of underground branches store (I) Mentha
food material
(B) Underground branches grow obliquely (I1)  Hydrocotyl [ 7

upward from the axillary buds of nodes
of the stem below the soil ’
(C) Aerial branches grow obliquely downwards (Il) Agave “~ ™
and produce adventitious roots after touching
the soil
(D} Weak stemmed plants have a cluster of leaves [WJ Sm:ﬁy:i
and roots at every node
A {".i'i Jhm!num

& 800 Dorod wfgabdo Dabold :
=Do-1 A #pp.-'-n
(A) ErAdy Tpo Pied wins N4
Sorgren Dog aotron {I} Doge
(B) #)8¥ &'Se aod sodo Smpo 38,/ M) m&TDS
Ho oo Sod #ridy Tpw Dd;l,ﬁ
Jé Freonr i DHheron. A
(C) srdiwid T o S eomr i_&ﬂﬁ E‘&r (I &7
HBA 3)85% o8 um;_;ﬁfm :5@:} :
ﬁﬁ;}ﬂ ﬂﬂ"m W
(D) wotrs roddy Insyék (@ oo (V) =85
38 o8 oy aLu-oa: :::um:: ey
508 dotran 4NN, (V) 2935
The correct match is>
a8 HATod Fdesy
(A) B 40 (D)
(D 4D &) &y ()
@ am/anan o
(3) ayr=xvy n (m
@ gn-d. v @

i,
F S

Rough Work-
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12. Identify the wrong statement
(1) Stipules in Lathyrus are persistent.
(2) Phyllotaxy in Trillium is alternate. : | 7%
(3) Venation in Cawlophylium is parallel. N
(4) Cauline leaves are found in Cocos. N\
205 gegae MBodod 7 E,‘#
() eadhe’ ddPoym bgsbo
(2) @gchles® S8dTgho dsaddo
(3) s¢'Pp5e &0 Tgdso BIresdo
4) E'sRdt (©5mod Dowod HErww dodrown fi_'\-x: ;
» _'__‘_ T :
13. The type of inflorescence in a plant showing ]:Iﬂi]l'ﬂl.l‘[l.ﬂl:ﬂ tmﬁuhn and lateral styles is
() Compound corymb LZju bmnpound umbe]
(3) Compound head !)1'}!A Cu'ummd raceme
wino Dorrdah B8, 3d)gloe LOAS oY :msfrﬁhma Day darghsso
(1) Sodsng a:&aiﬂ @)/ Doding sy
(3) %odsng 8438 Dagho ,_._-___ ) Boding wdind Dagho
14. ldentify the correct combination of chm;t:q ﬁ:und in Cucurbita.
(1) Free centfal placentation, syuanlh;c. dwb:gem palmately reticulate venation
(2) Mesogamy, fusion of cpmﬁp :uqd* .'.J'mhmus to form rind of the fruit, seed germination
cpigeal
(3) Axile placentation, :ntmﬂn:;nl nn:tarms. continuous collenchymatous hypodermal ring
in stem b
(4) Bicarpellary gynnenqrrr pnmpound sieve plate, unilocular ovary
L%6 yur S sa::.pt!m‘amﬁ vfme H¥doPpd M8odod
(h mgoyBed Hp‘ﬁ:*;:&o. Hoding TRodY, wdB08 sl mrerss SiFe gdie
(2) &g Sol@ndp, oo g Dofsdo '.';ga-amﬁu!‘ Doding B IS
ALAY-TLE ’Eﬁrﬂas DH:&: w0 de
(3) wlai llﬂﬁii'g;’an. :a'ﬁ;liid fo8dod Lﬁmﬁam. sodod™) e8P rof'n
Sodnes wdy5) oo,
(4 ._-ﬁs';uﬁ# wod§'do, Sodknd Tel Hule, D!ﬂﬂ woaridho
Rnugﬁ“ﬁhﬂl

e
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There are 25 flowers in an inflorescence of Allium. Each anther lobe of every stamen
contains 60 pollen grains. What is the total number of Pollen grains produced in its
inflorescence 7 ¥
wBahS Do) daghed® 25 Parjweatyon. T8 (D IHEeS'Y (D8 JodEd
306 60 oK gm@w ao¥, » PAY daghod® Indo V) ek T
P ady8 wHeon? Y

(1) 4500 (2) 9000 (3 18000 (4) 1500~
16. Study the following lists '
List-1 List-1}
(A) Aggregate fruitlets of berries appearing as a (D Rubug
single fruit AN
(B) Achenes on the inner margins of receptacle (I Areabptrys
(C) Etaerio of drupes ' o~ (- Fjc s
(D) Etaerio of follicles “. (IW). Magnolia
-~ (N) “Annona
& (202 wDeod wfgdhdo Johwod Y
sDor-1 . wbee-l
(A) DESySHorw HosDED ¥ Y ) @M Srub
Yoo Sdyoddo Vs \,
(B) ®pay dmghsyodo &30 woed - () esgrss’|8B
vbio aotrox an :
(C) Tofhe v Pomo NN (1) 8%
(D) 2% dorsE Pore Pomo L 5 0 (IV) &rf®yDair
: (V) a2

The correct match is

=T 1&&@::5 ﬁ‘ﬁn@ o N
(A) (B) . (C) (DIt

i) (V)= (i) (e (WX

@) (I @O (V)£ )/

(3) (an  avy @ns e

4 (V) (@ (1= m

17.

Triple fusion was distovered in this plant possessing naked bulb, fleshy leaf bases and
loculicidal capsule.

1) Lilium; '. (2) Trillivim (3) Aloe (4) Allium

Sy ofeo, \WHgod DY bores, gy JgrdE MPEm 4od Doo Ao &
o) (BHoTrmy SR,

(1) OD&s:5: (2) |BLchS (3) ws* (4) eddid:

Rough Work
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18. Study the following lists

List-1 : Lisi-11 .
(A) Bicarpellary unilocular (I} Hyoscyamus
(B) Bicarpellary bilocular 3 (1 Ulex
(C) . Multicarpellary multilocular (I} Scilia
(D) Monocarpellary unilocular (IV) Cirrus

(V) Cﬂ'p.i‘.l'f#ﬂh.
6 (208 @rDerod edgabdo Wakod ’

Do 1 tl‘ﬂl"i u
(A) Bgpod¥ DEdodindo @) prSErbarmb
(B) Sgpewd¥ aglodudo {}F} tﬁ.ﬁﬂﬁ
(C) wdvpodd sivdududo --.‘mn b
(D) JEPody Docsudo ﬂ"-’! HLS

L) shyeS
The correct match is e
a2 DOTHS #fdoYy
(A) (B) (C) (D)
(y vy avy
(2) av) @ @y (V)
@ (Vi O av) ,
@ O am @ SN
19. Study the following and ideptily. ‘Ht:tnrmﬂ pair of characters for Physalis.
{I) Petiole adnate mmﬂ];shh (II) Thalamus cup-shaped
(I11) Seeds nnnvcndnspcm:u: -;f.' (IV) Flowers hypogynous |
& (208 DD m.‘ﬁr:ﬂ:&q o FTODH Tobd HOTHH vEore udd Aboded
M 383080 _soded’ vihdo (I Harydse A3 wsdo
(1 uuﬂﬁﬁ,}d Q"ﬁ#-ﬁ D >veo (IV) arye wodE'ad o

The correct ij:swn 15
=0 E&a;ﬁ ‘ﬁﬁrw;&o

(1) {I}s {W} @) (I, (av) (3) (I, (IV) (4) (I, (1

legjl “'nrk

T
-
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20. Identify the correct pairs from the following

(I) Pusa moti of bajra — Mass selection

(Il) IR-8 of Rice — Clonal selection

(I TMV-3 of Groundnut — Pureline selection

(IV) Aruna variety of Castor — Polyploidy breeding

g (208 ot DOTS adeod ﬁ:guﬁﬂﬁ- 5

() =g y>rara — aTe S8mo

(I} && IR-8 - 5_4.56 S8no -

(1) TMV-3 38454 — -'hg Hod|E% :Sfd_inn A

(IV) ®dn windo 8o — DR o8 Lﬁuﬁ-gﬁ‘h;_

The correct answer is My

ad B8TDLS Hirgrido : NN ) g

(1) ([, (av) @& (1), (1) (3) (Q.‘ ]:WJ J (4) (10), (1D
H. Which one of the following SCP organisms lnnk_.-_u:mé_mm bound nucleus 7

(1) Spiruling @ Paecilomycgs 43} Chiorella (4) Chaetomium

& (BoB SCP #Hod' BDohods #i3(hs Fodfo aods?

(1) 33005 (2) *'.*:'»::5'3:‘5:!; )y st 4 d&*ahds

22. Arrange the following in sequential md:r uf lhhn' usage in recombinant DNA technology.
(I) Calcium chloride NI NY (D DNA ligase
(III) Ethylene diamine tetra a:mt.: acid (IV) Restriction endonuclease
8s*0DFod DNA Bs‘lui‘ﬁ‘ aaﬁ:u-.-mﬂ & (S08 &N HOTHS S Eded®
wdadyod. LI
() sdahls 38/ . (I DNA AL
() J8D58 S "I.JLL'- wHAE wio (IV) 13'::5_5 Jo&tsranhE
The correct answer i )
=0 DOTLI SenoeSo -
(M avy_[m (o
(2) (V)L ) ()
(3) (==d¥ an @mn
e AIVy—gm  an (D

AM 2013 B 10 8
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13. Assertion (A) : Application of cytokinins causes the opening of stomata.
Reason (R) : Cytokinins induce the influx of Potassium ions into guard cells.
The correct answer is \ >
(1) Both (A) and (R) are true but {R) is not the correct explanation of (A)
{2} (A) is true but (R) is false 7
(1) (A) is false but (R) is true P,
(#) Both (A) and (R) are true and (R) is the correct explanation of (A) / ;
aﬂain{ﬁj : .ﬂﬁ“iﬁﬁu;ﬁa Fdbo doi pddogrew Ed:ms‘uﬂrm
s~deo (R) : »::ﬁ"!:)ﬁm d5% rud't deraiio » oSS0 uﬂﬁd mod airay
Luﬁ! Sarow, ~
28 DOTHA maow .
(1) (A) S:06a¢5% (R) Bodr ~0ThRd e (A)S fﬂ] ‘ﬁ-ﬂ‘ﬁ?uﬁ :ii.'rd:l &
(Z) (A) RO00LRS s (R) 200058 s 2 0% -,
(3) (A) 50TLAS sods 2 (R) DOTLSA \ /
(4) (A) $20cw (R) Bodor HOTHID, (A)% [RJ ﬁbﬁh;ﬁ- HET.1
14. What is the amino acid sequence in the pulyp:pﬂ:lt sogment translated from the mRNA
base sequence of AGU-UUU-UCC-GGG-UCG ™,

(13 Serine-Glycine-Serine-Phenyl alanine-Serine.
{2) Serine-Phenyl alanine S:nn:ﬂiyn:mn—itnnﬂ a

(3) Serine-Serine-Phenyl ah:un:-ﬁlwmipﬁ&
(4) Phenyl alanine- Scnn:-Senm-behm Spnm
AGU-UUU-UCC-GGG-UCG _ﬁ'ﬁqﬁﬁ;ﬁ Ao mRNA 3508 wihad H0dom LAY
SO0 NRE poddod do s wire [§5:87
l:n .;»55 TeB-285-538 uu.'.:r!- 1.1
w8n- %-36 uuaﬁﬂi\ﬂ Eﬁﬁ -b5
:31 285-205-53€ oql}n.’r-ﬁbb 11
4) 36 wods- 'uaé’.i ‘hﬂﬁ 1':::;5 =45

25. What is the ratio ﬂf.ﬁ.TP requirement for the fixation of 6 molecules of CO, in sugarcane
and 5 mulgﬁul:a of NI in bean 7
Dot Sympe CO, D536 5 wmPHo N, PLEinosh widISThg ATPY
v 38 587
(1) 8 16 2) 3:16 () 5:8 (4 3:8

Rough Wark

AM 2013 B 1 s
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26. ldentify the correct pair of stalements
(I) Lutein is an oxygenated hydrocarbon.
(I1) Inhibition of bacteroid respiration by oxygen is referred to as *Warburg effect®
(I} Triplet code “UAA’ is called ‘Amber’. ; ..::_N___“‘ )

i

(IV) Delay of senescence by cytokinins is known as ‘Richmond-Lang effect” | :l":l.':'_’_,.i'w:-.--#
BOBHE srgwge mdd M:foded "

() ordd ofyedd $0hcwd) Tm@'s6)S “n; ,

(1) erforond wedabid wlyad 26'%csSard) ‘TBub Lﬁqr‘.'.wq* ub:,:r!&:

() 'UAA" 8E%08erdy ‘wonl wotrd N =

(V) 28°305e gdd wedgdddardy uﬁmns-u-nﬁ l;.ﬁu-i&q Hou-ﬁ:-

The correct answer is r -x,:“; F.

28 HOTHS aorw "h :

(1) (), (1v) 2) (an, 3) ci::;jﬁ'é}.f' @) m, qm
27. Arginosuccinase is an example to )~ '[

(1) Hydrolase [1] E'gau

(3) Lyase ; P \{q ‘Oxido-reductase

) Feiy3E 402 aoirdn Fs"l_ “m

(1) @'ss ; rz] org

() oohd aiH 4) wiya'-08Fs

¥ ™ By

.
.\'\

28. Identify the role of lectins in Ihq:fnnﬂatmn of root nodules in legumes.
(1) Formation of shepherd's crook
(2) Recognition of confpatible-Rhizobium by host

{3) Formation of peﬁhaﬂqg:ud membrane
{4) Formation of mjﬁctﬁm ‘thread

ohrgSiodt ﬁﬁ:xh&hm 28ydbod® BDERo g Miodod
(I dfy Lﬁrf H:,dﬁha

2) wBFox wIBGHH T DM HLEoSdo

(3 ngﬁ d3d0 D ES80

{41 fﬁu[gimn SGUINGRL AT

Il‘.n,i'h Wdrla .
"':-:_1' L&

; Ny g :1
= %

-,

AM 2013 B ' 12 §



www.eenadupratibha.net

A\

29. Assertion (A) : Azolla is used as a biofertilizer in rice fields. L/,-

Reason (R) : Arolla comains nitrogen fixing cyanobacteria in its root nndul:-.s

The correct answer is A

(1) Both (A) and (R) are true and (R) is not the correct explanation of (A)

{2) (A) is true but (R) is false Y

(3) (A) is false but (R) is true :

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

:iiadu (A) : wdltords 30 Food® 23 JHHm o8 erd. ‘

s*deo (R) : ofye Fd wdvod® Jdad Q-ﬁ;& ‘i‘.i“ ma‘u-gn ade Sowo

oo, .

a8 [0S

(1) (A) $:008 (R) Bodr HOTBID (A) (RY ."anas.-.a D58m T

(2) (A) BOTHSS 52 (R) HOTHID 5% A

(3) (A) S05H38 57& 573 (R) R0TA0

(4) (A) 0080 (R) Bodr HOTHID, (A)E(R)HITNS Ddde

30. Identify the correct pair of statements froni the following

(I) The attraction between two water molecnles in Xylem vessels is called *adhesion’.

(1) The number of molecules of O thqrbeﬂ is more than the number of CO, molecules
released when one molecule ov? fm}ldnu completely oxidized in nspuratmn

(II1) Bacillus mycoides is a ni:r"f:nhg bhcterium.

(1V) Continuous system of cell walis mﬂ intercellular spaces in plant tissue is called * Apoplast”.

& Sob ¢ So0 ﬁb_@é Srego =d5 fsfodod :

0 ocshreed Tok OB WReHo Sy wEde vood ‘whoade’ woerd,

() rgHfaid® wfleey (0TS Yrom wiydno Toddpd INTWIDE O,
e :’.:-m;s.".lﬁ:&n whg CO, vmPHo Howpg 5ol .

() 2rBeB Dsr0udl uf 5858n widabl.

(V) 4 I::izr-p'éiﬁ‘:r infsorw, forododsrol Dd_}ﬂ‘ Dol Sgipd
'-ﬂfﬁ'fg'..'ha-ﬂ"ﬁ:.

The cogrect answer is

28 LOTHS wow .

(1K), (1) (2) (un, (Iv) @) (), (av) @) (), av)

Rovgh Wrk
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31. The number of stomata and epidermal cells in 1 mm? area of abaxial surface of the leaves
of A, B, C and D plants are given below.
ABC 38050 D 3nfjo dero adidood® uf IS8 .. S7og ;ﬁ‘ Ao
wgdogre *f':-:npg =20 gl w‘.‘h‘s ﬁd& e mom; fod a.‘&au&;ﬁﬁ
Plant Number of Stomata Number of epidermal cells’ > ) L
‘Bag) S@doigre Sogg g O8) oo ﬁnﬁ
A 40 730 LY
B 60 510 ‘ '
E 70 450 h :
D 30 620 \ b
Identify the two plants having least stomatal index. -“..' N
uﬁgﬂ;} DSdod Br0E e Tod SnE) o8 ﬁ:ﬂp-ﬂpﬁ
(1) B, C (2) A, D @ AL ) @ A
32. Study the following table showing the components | m""*:‘wu:r potential of four cells of an
actively transpiring monocot plant.
oo rd)dyfo ubhPFomd) uf .‘ar .ﬂf ba Jwg), Toh foro A
-i#l woro adgeddd. |
Cell Osmotic potential I'm;m potential
§wo BTPsdm H80 0 1585 #0
(MPa) /0 (MPa)
A 09 ALY 05
B. 0.8 T NN 0.6
C 0.6 (\N./ 0.1
D ~DANS 0.4
Identify the four cells as roo! Hair, general cortical cell, passage cell and pericyclic cells of
young root respectively. (Assume symplast flow)
& o ferod: INEHE TwE Sworo o, Iore Soje fwmo, Erg
fmo S0aiw E\ﬂﬁ@iﬂdﬂ‘ SE:Rd Mbodod. (hoady JSodom grdodod)
(1) B,C,D, A _2;__' _ (2) B,D,C, A
(3 B, D, A, C{V)) (4) A,D, B, C
33. What is the tetal number of amino acids when the capsid of TMV contains 2130 capsomers 7
TMV $535¢" 2130 5326w 00F, oS eiro 3ndo dowg Jod?
() 336540 (2) 162622 (3) 948 (4) 387921
Rough\‘r’ori |

oy 3
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34. Study the following lists

List-1 List-11
(A) Syphilis () Acetobacter %
(B) Pathogen of cattle ' () Agrobacterium o
(C) Crown Gall of Apples () Corynebacterium f‘\@
(D) Diphtheria (IV) Mycobacterium 4 w
) Trpomeme Y

& (Jod wDood wdgabio Wakod ~

o] ool o

(A) HH85 ) whsergb @E

(B) sHHod* Tg0 wifo (mn uﬁmib{@

(C) unde* 5 ms (1) &6

(D) 85005 av) g%
(V) -*P

The correct answer is

ab SOERE maw %

) B (€ (@
(1) (m) /{\

® @ @ %27
&M o m m, @\-
@ v m >

@ @m ) ) ‘QQ};
;-‘:J—ELL

35. The microclement whichis.an 1 | part of the electron carmier which transfers electrons

from cyt-b-f co 1o a component of

(1) Nitrate MLI@E 2) Cytochrome-*C’-oxidase

(3) IAA oxi {4) Dinitrogenase

Cyt-b-f ﬁﬂ}_@ PSIE dogySod Sovwr W1 Jogyl Pirfod' woddd wrilom
acd 1 Eproto 4D wldobSomr doksod

43 (2) H&'E'Se C" wlydd

$ydE . () B3t edS
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36. Assertion (A) : Dictyostele is present in rhizome of Preris viftata.
Reason (R) : Meristeles are scattered in the rhizome of Preris vittara.
The correct answer is SN
(1) Both (A) and (R) arc true but (R) is not the correct explanation of (A) /.
(2) (A) is true but (R) is false .
(3) (A) is false but (R) is true
(4) Both (A) and (R) are true and (R) is the correct explanation of {A}
Nijde (A) : BOD g FEn ¢t worsd (9000 Faw o @owod.
s*¢dmo (R) : BOS Dger E‘:&na&" 'aautgﬁm Eﬂ*?ﬂmﬁam ao&ron,
a8 [T mow
(1) (A) So0csn (R) Todr BATBHAD 50 (A)S AR) mﬂ"ﬁhﬁ Qi &
(2) (A) S0TB38 2 (R) HOTHIE =
(3) (A) BOTHIS = (R) HOTS N
4) (A) ﬁaunﬁu (R) Bodr HOTBLED, (A)S4R) ﬁﬂm;ﬁ SEY.1)

37. What is the ratio of mitotic divisions that také flace-in the microspore of Cycas before and
after liberation from the microsporangium dunng the development of male gametophyte ?
25 POD DoTWors bud ehI)A SBivhos® trg ) Bgberdahisn S00
Sos8 3008 v 608 drgr Ddlagy® 207 3% DPeso D438 Jo&?
1y 1:2 @) 268N ) 3:2 “n 1:1

38. ldentify the wrong statement I velation to Funaria.
(1) Stomata are present in.the epidermis of capsule.
¢2) Spores are viable for. only one year.
{3) Inner spore sac is one celled in thickness.
(4) Trabeculae conneet the innermost layer of the capsule wall with the outer spore sac.
‘-ﬁ_);ﬂﬂ:ﬁ:*!: _:;-.qhm:;.n::» 205 Fgegse MhBodod.
(D D ESpTre 1508 wrirg $8)08" dotron,
) Hgheaf wokhdodne ¥ o8 Soddéyde 6% SrED sotwod.
(3 &8 'i.:éﬂt.tﬁ‘iu ¥ fm Sodod® doduod.
4 RS HazH 600 o, wrirg DEba D) Swipsr (oBGHY sotran.

WWMH
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39. Study the following lists

List-1 List-11
{A) Anucleate (I) Spirogyra gametangium
(B) Uninucleate- (I) Rhizopus chlamydospore ¢ ]
(C) Multinucleate (IlI) Preris neck canal cell A -
(D) Binucleats (V) Viris matured sieve element .

(V)  Akinite of Spirogyra
& fo8 wrdeod wigdSco Fdhod M
eDer-1 ade-I1 &0

(A) So8E dirdo M) B8 ae pomambenicio
(B) 2ffo5E dindo (I p&*3%) ;‘mﬂ‘#‘gﬁ
(C) »&wEo |88 clndo (I Be% Efuif.:ws!nn
(D) &g¥o|S8 dindo (V) _ﬂ.‘&‘ﬁﬂl‘ii!s Toddurugo

{'\"} ‘I'.:aﬁ'-"?‘lﬂ' wE0E

The correct maich is /
al H0ELE &'80Y

(A) (B) (C) (D) NN
MmO v W M ALY
(2) av) @M am @m
@ o ) @ [0 >
@ vy O (s
40. In F, generation, !Hiﬂ ,!.Ilrdeh pea pods are produced during dihybrid cross due to self

pollination of Mtﬂza’ggﬁs parents, How many pods would be green and inflated?
oS cﬁmﬁgi_"uﬁ}wuﬁ‘ wd Do DoRdo orger Bghosd hofdmod 960

&' Hﬁ‘.‘l!._'..;}l_:"_!.:;-} F, 0886' Jdjgron. 20 sove eHdSyr Jeoasdm
&nu“uﬂ:
(1), /240 @) 180 (3) 60 (# 540
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41. In amoeboid movement, according to Goldacre and Lorsch cytoplasm solates due to

(1) Folding of prﬂil:in molecules (2) Sliding of actin molecules .

(3) Sliding of myosin molecules () Unfolding of protein mulm.ﬂcé
P86 Sodo obyo v dho H5ddn edwrond AfSad® !nhmﬁ sﬁ‘ms
Blses uihihs .

() 285 emPew Dds HA5Hpdd (2) =85 wmpe ﬂ‘ﬁ:ﬁb ﬁﬂ‘:&
(3) LTrHS emPHo hd Sod @ @45 -m-“.grm ﬁ;dﬁ a&aaa;_.:m
42. Which one of the branches of cranial nerves is not related to w,;gns
¢) Chorda tympani (2) Cardiac. dtp‘rchnt
(3) Recurrent laryngeal (4) Pneumogasttic-
& |B0d Do o Tyod' JB THLD RowoRoDBd sE
(1) sgdodd (2) & E'“i;_‘ha-ﬁ'
(3) |Pergdl Bgdods ) ;’mﬁd
43. Match the following with reference to Taenia xﬂium
List-1 ListH
(A) Mehlis glands (I) Tegumeny fﬂnnatmn
(B) Vitelline gland (II) _Osmoregulation and excretion
(C) Mesenchymal cell¢ (110~ ~Lubricate passage of capsules into uterus
(D) Flame cells () Secretion of embryophore
4 {‘?} “Capgule formation around zygote
ddasr Fod0%h :mum:maa & 8ol D ud LrdySw
Sg¢-1 ‘O Bgen
(A) 3.:::-!:.-:. oge _ (l;l ]!ar‘i:;ﬁ:nﬁm w8 B d
(B) Ha% 1ol D SoDBdm (Fied S00ks DHYS
(C) DWo3dr Sarayl . () HOfe o) 0550608 et Wogdbo aine
(D) &gor Soren 2/ (1V) boddgso [SDodes
UV (V) doding bao Sobr 438 HPE (Hlodhb
The correct ma‘t-cI'J h .
al DOTWS &'&ui’u
tA) {3} w©
) Iy =YY= @ ()
(2) (N '_t‘-i‘j (I (v}
GraV)y—m @ av)
("i {“"." (m (M (1

R,:qhwuk
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44. In the life cycle of Wuchereriae, 3 and 4% moults of microfilaria take place in
{1 Lymph vessels of man ' {2) Stomach of mosquito
(3) Salivary glands of mosquito (4) Thoracic muscles of mosquito | .
Yo #08 SFod® [ HTodrer Surdd S0mH TS aﬂ‘;da-m '
wE 8 adPHHoirown .
(1) Sr39Ha Fadd Fve 2) &% dgdciod
(3) &% veozo Hododhods (4) &% adifodorw

45. Which one of the following became an endangered species as a rmﬁl Gf' gxtinction of
Raphus cucullatus ?
1) Sideroxylon grandiflorum (2) Ch:j'smthcn'mn Y
(3) Cinchona (4) Bacillus ﬂ:mnﬁlmhs
o9h HHOTHED woddodot Sod fod .'.rﬂvcj" ‘ﬁ:l;:‘r BudpaeDs wam
o8fdnd?
(1) adﬁ‘ﬁ:ﬂﬁ (o8 e s, (2) _}.j}_ﬂ'{dﬁﬁaﬁa
(3) oS> (4) (WS &00#ahaf

46. What is the resting membrane potential of nm: fibre ?
T4 dody TwE, Jovds 4850 207\
(1) + 75 mV e Nd2) 45 mVY
(3) =70 mV AN - 45 mv

47. Identify the correct combinations” ™ :
(A) Housefly—Labellum—Pseudqirachea
(B) Moth—Labellum—Dutfch's, niémbrane
(C) Butterfly—1* Maxillae“~Galea
(D Ts:meﬂjh-ﬂmuum-—ﬁmmllmn
=1 ) .aﬂa;#;ﬁ;mnﬁa A8 oodn
(A) 6i—BBESy=dayTyd Tvw
(B) $r8—BDghr—dos dgdsn
(€) HoE iy 3088 woDs—HDS e
(D) %% M—iﬁ'ﬂ—ﬁf“guﬁa
(1) l‘M & (B) ) (A) & (C) (3) (B) & (C) (4) (B) & (D)

anl Work )

AM 2013 B 19 8§



www.eenadupratibha.net

A\

48. Which of the following character is not related to Indian chain viper ?
(1) Large black rings occur in three rows on the dorsal surface of the body
(2) Subcandals are present in two rows
(3) An ammow mark (T) is present on the head
(4) Head is triangular covered by small scales
Bod viored’ z0dchl B[S ISEH Hovoddw BA a8 o wabos
(1) 8% dypdood Sards Sdde D¢ Igd Sodrootrey
(2) ua‘ﬁ;-ﬁam ot Dok SGbed® aotrox
(3) sod warss (1) Md dowos. :
(4) 8o BF'wsdom a0l 08) Pwed ﬁﬁa,uﬂuﬁmm
49. Arrange the ganglia of Autonomous nervous system of Emkroa:hmmn'n:t ::qumn:ﬁnm
wmnnnpnslmur end
{A) Fromal ;angllun
(B) Proventricular ganglion
(C) Hypocerebral ganglion
(D) Visceral ganglion _
S'gof Beddo S'ad >d ﬁsé'.g-'ﬁ‘_ aod 4 Dodood Hpdy riisn Hod
adgridn H8H B BB S8R ﬂeﬂuﬁaﬂu
(A) oords >4 Hod )
(B) ¥rdg |Hod =dbs n-& ;’:ua
(C) w§'saha, a8 »op
(D) wodood =4 ﬁm‘,‘g :
(1) A-C-D-B (2)” A-D-C-B (3) B-C-D-A (4) B-D-A-C
50. Identify the typical dental formula of a Metatherian
Db (Tef) Ierdn Sod dr@snd MOoddw
¢ A58l pm 33 m 44 (2) i33 c¢l/l pmd4/d m 33
(M43 el pm I3 m 44 4) i4/5 c¢l/l pm33 m 44
I ——
Raugh Work
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51. Both hepatic and renal portal systems are found in

(¥} Fishes, Amphibians, Reptiles {2) Amphibians, Reptiles, Mmmu];"ﬁ‘\ L
(3) Reptiles, Aves, Mammals - (4) Cy:lua:tomeu. Fishes, ﬁmphib'tu’f*b}' :
res, 5)% Dogirs Sp53w Dodr 03 dhe B

() Sdew, agobdorem, 2bd)drw (2) egabdore, HbH)drw, § oo

(3 dboydrw, Ho. foow ) BE FFswm, Idey ﬂrﬁ;ﬁ;ﬁb‘m

R

52. Unloading of oxygen from haemoglobin is enhanced under the l'hl.'lnwing :nm-hﬁum
(1) Increase in pH, decrease in CO,, decrease in leumure Tt
(2) h;mucmpH.mmmmmz.dmm:htmm¢
{3) Decrease in pH, increase in CO,, increase in tempmuﬁ;
(4) Decrease in pH, decrease in CO,, i increase in lmmrc
& (Jod B0HBwses IANFDS Mol lr!:.af: Jl’:-}ﬁ wdfomr Ddde -:b&:on
(I pH d=od DEAw0, CO, H0drno l-ﬁ:n, *?'Lﬁ" dfeo
(2) pH 2end 8Mbo, Co, ﬁﬂhgq_"ﬁﬂﬁﬁm adid diko
(3) pH 2o03 dffwo, CO, 383 w0 TEMbo, afiid BoAko
(4) pH Deood dffwo, CO, B0Erae dfve, ad|fs Didso

53. Craspedote medusa is preseat in the following pair

(1) Aurelia and Rhizastoria (2) Pennatula and Aurelia

(3) Flhlzuslnmu HI;I C‘::rnlhum (#) Physalia and Halistemma
fod 2 ud nﬁa’au-ﬁ" LE-.-.'"}G‘J gl Vodd D acdk®

(1) wblelr Sbatw F&*Psr ) bamerger &0de wblair
h _'E!"g_“&- Sobdie BorDabo @) POy Hddn HOHIM

Rough Work
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54. ldentify the Nematodes which have various shapes of amphids but without phasmids
(1) Wuchereria and Ascaris {2) Trichinella and Greeffiella (.
(3) Enterobius and Ancylostoma (9 Ascaris and Ancylostoma .
208 wroros® wobles PHod, PhSw B IS dho ogos '
(1) &SBbcir Sbdin wdyoh \
(2) B983g Hdcln ADTHe
(3) J086*DchDd Hdaln oIS Y K]
(4) w05 H0dn woIStPar U

55. The pﬁn of Adrenal cortex which secretes cortisol is M:L'- N ""
(1) Zona faciculata (2) Inunglmnenﬂnm
(3) Zona reticularis (4) E.qnﬂ 'p:liw:ldn
)8 Supoed’ ;G Blod ridn L
(h &> Phbgder @ S ﬁ‘mﬁrﬁ‘:ﬂ
3) &' DdHgoras iHﬁr,_ a_&'a' Durgha

56. In the ransverse section of thuma, igaom‘fyﬁn correct sequence of body wall layers
from outer to inner side. Py ’
(A) Circular muscles -’:'j J‘
(B) Parietal peritoneum 4 Ny
{C) Epidermis
(D} Cuticle
(E) Longitudinal muscles - , —
BOLEr wdEt e ﬁﬁ-ﬁﬁsfq} ;:Jqs o pobd ol '8 Lo HOTHLH SHBESrD
fBoduiw. A
(A) Seals ﬂnda‘ﬂ.
(B) ®ag H@%ﬁ?
(C) u"i‘rgﬁiﬁid

(D) eSgrtd
(E) o8 $odoes
(1Y{€2B +>E3A->D ) D+C+E—>A-B
'R >C>A3E-B 4 DaBa2ASE-C
—_— —— = = - - —

Ihh!h Work
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57. Statement (S) : In gastropods, due to torsion manile cavity is placed anteriorly behind

and above the head. .
Reason (R) : During larval stage, visceral mass, shell and mantle cavity are twisted) °
upto 180° counter clockwise with respect to the head and foot, ,ff-“g:\ o
The correct answer is 'EU
(¥) Both (S) and (R) are true, and (R) is not a correct explanation to (S) / “‘\\h/
{2) (S) is correct but (R) is not corect

(3) (S) is not correct, but (R) is correct “n_x_f

(4) Both (S) and (R) are true, and (R) is a correct explanation to (S) | } »

Tgeg (8)  : rPdro dHodiod &dS Do @a-u,ns:n&o (m Ssedrr
B3 pdy yrhes*d Shoa. NN/

sdso (R) #a’uu dofff 84¢" wodood (B3g0 “‘i’#ﬁﬂ udarsssirdo
dof Jobcn >adi 180° 4% :ﬁ;.gmmn Bdatreron.

OIS HArEISN s Y

(1) (S) $:08n (R) Dodr Dedn, S0d» ($)6 taf“ﬂh&aa D56 s
(2) (S) HOTH/AL £ (R) H0THIB 5 (o N

(3) (S) S0THIS £ w1 (R) SOTWSE (0 bj;

(4) (S) f0ddiw (R) Todr Awudw, Soddiw (S}l!ﬁ*{g}-égﬂﬁhﬁ be}-1.1.0

58. Arrange the following in the ascending nn:i}ﬁf\m humbcr per cubic millimeter, present

in the blood,
(A) Basophils A R“‘mx () iymphmm:
(C) Eosinophils (TS 3 (D) Neutrophils
(E} Monocytes .f.r_, “:; o
8 25 Do, 6fod* aed !%g Sowg werdom & (Bob TV wEire 0!
6506308, ENY
(A) BE%E )\ (B) Do
Y
(C) ﬂﬁﬁ‘:\-ﬁa Q" J (D) 3!"5'_5"%:63
(E) nr:.“m
L] I'L—,.F-";—FB—}D-I'E 2) C2A-D-E-»B
[1}/%:?;4[:-;545 4) AC—>E-=B-=D
Rough Work
<\
i = :.':l

AN

)
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59. In Eukaryotes, which of the following genes synthetize heterogenous nuclear RNA
(hn RNA) 7

(1) Holandric genes (2) Split genes (3) A-gene @) Z<genes

Re Bo|8¥ dHod® Dad wrdah FoB¢ RNAS: (hn RNA) :’:-a‘[-aw asw
mdgdheor 227 : -

(1) #**oo8F mSger (2) 8 =dghHe (3) A-uﬁa;ﬁ_}-- m'_{ii}, Luﬁ:;@m

60. Match the correct pairs in List-1 and List-1I with reference to Pheﬁ:tima
PSS-S DowoQodd DY I So0din DY IS Hﬁﬂhﬁaiﬁm

“d

List-1 List-J \
(A) Pharyngeal Nephridia m g™ sc‘gma'nl
(B) Stomach (I1) 18" segment
(C) Anterior loops (™ -ﬁ'--'iat“‘ segments
(D) Male genital apertures [W); 4"‘, 5th gnd 60 segmenis
V) A0™ and 11" segments
@61 ~2 7 3861
(A) [HdRdh 357 [I] 145 gpoddo
(B) #grichism A ) 185 poado
(C) 4rég fsges AN a9 SoD 14 565 poderes
(D) péa a3 dogren L\ (IV) 4, § &:0d5w 63 polore

(V) 10 S8c8e 1135 podore

The correct match is [~
a8 BOTHD B0ty

A ® (©)mo
(1) avy) (M (o 06~ (m
@ M @ gn W
(3) (V) AV am @
@) Vi) (v an

Rough Wark.
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61. Match the following

List-1 List-II
(A) Simple squamous epithelium _ - (I)  Ureters ..

(Il Lining of alveoli nf’ lum
(IV) Lining of Thyﬁﬁ vesl:‘[ﬂ
(V) Mucosd. r.:rf-‘mmad: and intestine

(C) Non<iliated simple columnar epithelium
(D) Transitional epithelium i

(E) Pseudostratified non-ciliated columnar

epithelium :;';.. -;___,
(8o 0D mérdydn : M
5961 S
(A) H0¥ dop 0 s mfwhﬁa-m
(B) 96¢ Srs adse /') sbaams

(C) ADs &% 8 58¢ Sowrsd adée
(D) S038%5 avEy b

The correct match is
a8 BOBHS S'doky :’f;_'::.

W ® @ ®
W @ avyem—An - an
@ ® ap e an )
® WA m v o
@ ) @ v o

i ."'.\ i
5 .

(E) Derghosads dind Sog-sld é.“_ﬁ&f"

() MBE8&eE'D sainstroh

wiboD ads¢

v Foronl Frod es0od anse

(V) dogriobo Dbk DiHE™D 38480

Rugp-l'r‘qr_k
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62. What is the duration of one cardiac cycle in man when the heart beats for 75 times per
minute?
) 0.3 seconds (2) 0.4 seconds ) 0.8 seconds  (4) usmmu |
SrSHD hod D8 75 1D ByobT w8 0 Sedko Jod ﬁﬂ:ﬂﬁ:ﬁﬁ‘iﬁﬁé}ﬁma?
(1) 0.3 %ol (2) 0.4 ¥ods (3 0.8 Do t#;l‘l! wEol

-

Sl

63. ldentify the correct sequence of events with reference ﬁ?%’mn}ﬁgjlim of vorticella

(A) Amphimixis (B) Disappeatance of macronucleus
(C) Attachment of the conjugants [D}P‘i}st Eunjugntinn fissions
(E) Prezygotic nuclear divisions A {F.}_' .:Fi::-ﬁtz}rgmic nuclear divisions

5Dy DodknliyEnSH HowoHo DS S Bel BSgnaS Yo HOTHS B ESEDS:

K00 o, .

(A) el Dyino N (B) Frodoss wsyigo

(C) Sodinifse £uu:-_.¥.§-.j ) (D) Hodind;dg DD e

(E) doctioy Jod Srdy Defesen (F) Hodasny So8¥ 6dd dgade

() C>BHABESDF @ Co>Bo>E—+A-FoD

3) FA4ASD>B—>C—E @ F+D—+A—E~B=C
Rough Work
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64. Match the following

List-1 List-I1 :
(A) Conjugate vaccine () Human papilloma virus - x
(B) Toxoid vaccine (II) Haemophilus influenzae _ \
(C) Attenuated whole agent vaccine  (I11) Bubonic plague LN
(D) Inactivated whole agent vaccine  (IV) Yellow fever -1{\;?‘:5;. !
(V) Diphthena r~ 0O
B8 AN méHdhdbdn _ o[V
Q-1 5g4-11 QNS
(A) soeeTi€ o835 M Srogiel a-il:-q’-:;:-\au,,/
(B) &rsvyond ariys M rarded u%-dhd#
() dirgBE TUE Duolf S (D) wogdtDE B 7
(D) a5e3dTE 96 Deod 8yS  (IV) Sy Ag¥a -
v) agtos
The correct answer is _i %
20 RO Dirpe NV
(A) (B) (Cy (D) P xfff
mm avy vy @ . fi“:\ 4
@ m Vv av) @ *{:h__':--.;f_f",'
Gm M an M [N/
@ @ o tw},«; ?;'A:-.;;'-if'
65. In birds, Foramen maammnm at the junction of
() Clavicle, scapuls. @M;md (2) Scapula, carina, furcula
(3) Scapula, mm;m% (4) Clavicle, synsacrum, furcula
dHodt HiLﬁcQ *ﬂ’auﬁu & (208 Jdnfws ¥DODH S'o aokwold
(1) HLﬁaﬁ; thuqﬁa!i‘uﬂ. woadioddn (2) woRdPpelidn, b, t;d:.a::r-
(3) uﬂ‘i'r#b!#:: voddoddw, w8y (4) audd, eHBLdn, oo
mmwm“—

.-'_'.|
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66. Identify the two small apertures present in the auditory capsule of rabbit
(1) Foramen magnum and foramen ovale -
(2) Foramen ovale and fossa ovalis [
{3) Fenestra ovalis and obturator foramen J
(# Fenestra ovalis and fenestra rotunda ";' p o
ol JFdnh@dod" acd Tod DI) dogrods A:fodod . ;
(1) $HD&do S0cx o TS /
(2) oS adS Hbdain > L dD
(3) wodfhdo BcSn wpdes oS
(4) wod HwUdo bl Ssvos mhdo o
67. Match the following S N4
List-I List-1 \
(A) Founder effect (I) Long wgrm[f:s
(B) E-Dtllll:m‘."l:‘k effect (11} Hetmzjrpus fnr gsickle cell anaemia
{C) Genetic load (III) Pitcairn. l_ﬂmd human population
(D) Directional selection {IV) Fu'lj#act'j'h: dwarf individuals
{V] Sﬂnﬂmltr population in california
Bo& AN wdDdBdn
| 5ge-1 .“»g: -1
(A) 0¥ £Po Durdo ) _f:l : {l} w‘l‘;—ud"‘b 24335 Da
(B) a8 36 [Byrdo P} \_;‘-3:-_:,11] Dad door) e ‘3336":} %85 nS snlucsr
(WSS (Pderso) N
(C) =mdog erdo / :;.'. (D D& Eoxnb) 350" SIS aver
(D) dwcind 58mwo _ LJL (IV) 9%, 5 worbwgodo SOAS Sgard
7 5 (V) sO0)Sr6*D &g b ) o mavg™
The correct answer r:
RS HOTHD :::5;::;:-&
(A (B)© A" (D)
(1) av)y (i)~ V) am
(2) () AN ' In  (1v)
(3) ["'-f"l' {l‘f,) (I) (I
) v an
Ruugk“'h;k

e
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A

Of the following statements about ‘Antibodies’ and ‘antigens’, choose the correct set
() An antibody consists of four identical light (L) chains, and two identical hu\r};.{_l;l}

chains. L\n =
(Il) The stem “Y" of antibody is called ‘F " fragment P B
(11} The stem of antibody and lower part of the arms constitute the “constant’ (C)’ .
{W}‘l‘h: portion of the antigen to which an antibody binds is called epitope, fi\
‘58 diton’ Sbdn (B8 asron’ Soxododd & Bod a*aﬁ;uﬁ‘ ::9@:;5

2 JodESedn \a
) =8 38 Borod* swd HdgRdrs 00 [L] Frossoed glodn Bodd

Rdghdrs o (H) Moo gowron. N H‘H.x;_x
() 58 b0 YE*D 58 ol F, wodo sotrd, R4

() (55 Beros'd 56 wriio, oo Bob Trmes Sotd HEC) Poed) Deytodnan.

(V) $BTDE wopSiThy BBeSEY rd) Jhd!f\ 5
The correct match is )

H0TH ud N

f1) (1) and (IV) (2) (1) and (III) (3) fﬂu@d(lv] (4) (1) and (1)
69. Identify the tumour suppressor genes from Ihu:{n mng

(1) Oncogenes (TP genes

(3) Pseudogenes fi\xlgj SRY genes

(Bo& A" argib Hoyny6 umm\mhgﬁmh

(1) wof* adsghes ’ﬁ“x\ A edogipen

(3) DgrgudgHe o m‘e\l.ﬂ;ﬁjm (4) SRY uiogdHen

70.

Choose the wrong M ‘p‘ﬁm to Mutation theory
(1) Mutations are :umqltlu! bwl‘ generations
(2) There are no ml-:nﬁi@{tb;nngﬂ in the course of evolution

(3) Mutants are Wgﬁﬁmm from parents

(#) Mutations are. ;ubjﬁlu:l to natural selection

a8058% NFIMNE Howododd Fgpgod’ BOSD Fgegde MBoddn
() a830%d Hood dorod* Boddo wHoran

2 m,w&}gmdd' D DS Srggind S sodP

© (3 asju‘isﬁa-m T8 $Rdoide wol BluyoDd Pord) drperan

@y i'a;,us‘dn-m (B€)858e08 T evon

“ﬂﬁhm ! B
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71. Which of the following hormones regulate solute reabsorption during urine formation in
Rabbit ? T
(1) Antidiuretic hormone and Angiotensin 1 \\
(2) Angiotensin Il and Angiotensin | (S8
(3) Nor-epinephrin and Epinephrin T\
(4) Angiotensin Il and Aldosterone 4 “t“mf
So0dmd* Sarigo JEyded* & Bod 2 563 odere -I“.’:/,nm :}%n@#m?
() dodf dolrTOE 96%) % 00 woRTLBIYS | 6.3
(2) wo2TLrERS Il Hbdw worTruldyn | P JEH. ‘mi';h J
3 6 ILIBHS Soctn ILIGHS RN
(4) Jo2TWBYS I Lbcin ug*RE'S ffﬂfﬂ::; ad
BV S
72. In ECG a prolonged PR interval indicates LS\
(1) Hyperkalaemia and hypokalacmia “H{;:—--"
(2) Mpyocardial ischemia and hyperkalacmia f‘" ‘“—’i r_~.
(3) Cardiac arrhythmia and hjrpokalu:mia -
(1 Coronary artery disease and ﬂunmalmjé’q&
ECGS* 8% PR wosd o 3330 B0-3rdf00
() ZroBEdhair S0ck 3 m;ﬁ@
(2) SoTrsfahd ahledir ! E“-‘Jﬁiﬂﬂ:dﬁ'
(3 Tplch IO aEr macﬁbxggraamuﬁr
4 €550 uyb &hE &I@‘a&ws 2gdo
73. Identify the mgamm,_r{mu ng to the benthos of lake ecosystem
(1) Gerris and Be::[e?rxﬁ (2) Chironomid larvae and red annelids
(3) Daphnia and No (4) Ranatra and Copepods
B A3 8N ﬁg;s-ge:i‘ ToghhH Tods dHods M8088E»
(1) nLu-.ha:n,qu bad, 2) ‘!uﬁ'ms dodreo S:0c8n
e i 2|8 wDds
(3) ?alﬁ.l‘ :i.'-ﬂr.ﬁ;: Sa*agy (4) oo So0din E"".‘.'a.".'ﬂﬁ_j

'Iiulghi;ﬂﬁ =

Fg

F

- . — \

'I"-\. ! e

Pt

.-'"‘-\"

%
1
)

AH-HI'I!B s
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74. Statement (S) : Afier implantation, the uterine myometrium undergoes changes to become

‘decidua’ in Rabbit.

Reason {R) : The placenta of rabbit is described as deciduous type.

The cprrect answer is

(¥) Both (S) and (R) are true and (R) is not a correct explanation to (S)

(2) (S) is correct, but (R) is not correct

{3) (S) is not comrect, but (R) is correct

{(4) Both (5) and (R) are true and (R) is a correct explanation to (5) b, ¥

g (S) s Hodepd® B3 DS wdoddo r!u-a-icﬁ.:- mﬁrﬁhﬁm Srdoyes
Tob& 352 (decidua)r 28 Jdado.

Fdmdn (R) : foded® zodofHds dd ['demd‘muﬂ 5!‘35 DobSdm
S 80, .

BOTHN Ddrgrddw

(1) (S) 3:8c50 (R) Bodr Dein, SH0dn {EJE‘-:: flll ﬁ:-ﬂ'&'.::i DS s

(2) (5) 20T1IL, 5~ (R) 20THL :

(3) (S) HOTWIL b, D (R) HOTLH A~

4y (5) mum (R) Todr :.':ﬁ"ﬁl::&:l. (5)% [R}‘-ﬁﬂ?:lhé :‘;&ﬂm

75. Statement (S) : ch-disjunctiunisﬂwfqim;eufpnh'ﬂd chromosomes to segregate during

the metaphase of meiotic divisions of gametogenesis.

Reason (R) : Nnn-dmjmctmn rcﬂills m prbductmn of abnormal gametes.

The correct answer is

() Both (8) and (R) are true apd- {P:} 15 not a correct explanation to (S)

(2) (8} is correct but (R) is not .qnmwl

(3) (S) is not correct but {R} 15 correct

(4) Both (S) and (R) are-true’ imﬂ (R) is a correct explanation to (S)

Tgwg (S) 3 ﬁnﬁrﬁﬁﬁ"u‘:}da hsabod® §chEfn Jfus T, Sadige s4S
SIS E Sow udis Todiddad) wdTWraso votrds,

sdemo (R) : u:ltﬂms:-ﬁu o e>rsrss HoTWrd bereo D8 jdoer 0,

LY mﬁrrﬁin

(1). [5} S:0080 (R) Todr HOATHHD, S0dln (S)H (R) DTS Adde s

(2) (8) 508x5E,/ = (R) SO0TH58 o

(3) (S)yS0TSL =&, 2 (R) HOTHH

(4) (8) Sobusno (R) Todr Dedn, So0dx (S)© (R) S0THS Jddnm

— ——— —

le'h \:;:r*;k '
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76. Wax glands in honey bees are present on these segments

()
(2)
3)
(4)

1, 2, 3 and 4 abdominal segments of queens

2, 3 and 4 abdominal segments of queens

2, 3, 4 and 5 abdominal segments of workers —
1, 2 and 3 abdominal segments of workers v{J

306" DY (Hofoen & poderod dolrom

()
(2)
(&}
4

ored Sl Thody 1, 2, 3 Sodain 435 &80 poderw
ol &l Eﬂ.:!ar 2, 3, HDodhn 45 688 polow

0 i Ty, 2, 3, 4 Hbddn 55 add poderw :
8 Gl Glesy 1, 2 Be0die 35 464 godorw

77. ldentify the correct pair "
{A) Zinc — Essential for IIHHF n-"pi:r '

(B) Cobalt e Essential for anaunn of leucocytes

(C) lodine - Synthesis of thyroid hormones

(D) Manganese — Synthesis of insulin

HOTHE wéds MBoSHBn 43 e

(A) 2a8 -— fmangro Sl dn edpiddo

(B) &'=rd — r.::-gﬁga JEydobD wdgsddo

(C) oTras == Boonb. 5965 volhe

(D) SArolAD — ¢ 'm‘u:ll..':. sofam

(T3 (B) and (C) (2) (N.i and (D) & (A)and (C) (4) (A)and (B)
78. Identify the correct s@qumdﬁ.gf'mgﬁ in the Ross cycle of plasmodium

(A) Sporocyst : '[B}.ﬂ&kinctc (C) Sporozoites (D) Zygote

(E) Oocyst .

¥ a0 msa ~:r-‘.5 Sodrld Sovodoud DOTRE SHN|EFIESNI

Mafodede [ )

(A) 336°%%. ) (B) &838 (C) *y8'eronden (D) Bodkwl bao

(E) %%\ O

(1) DI B ASEC Q) C+>A—SE->B-D

3)/D=E—-B—=2A-C 4 D>B—=E—=+A->C

AM 2013 B 12s
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79, What is the phenotype of the offspring bom 10 a woman with normal vision (homozygous)
and a colour blind man ?
(1) -All the sons are with normal vision and the daughters are colour blind.
¢Z) All the sons and daughters are with normal vision.
(3) All the sons and daughters are colour blind.
(4) All the sons are colour blind and the daughters are with normal vision.

Fordm Sy (Bl abdyzo) KOAS B9l H00 Sgrods SOAS ¥ :an}‘hm o
PoddSt E)dgard 33 §Ewo D Do Hotwod? .

() Fdhbeooddr rerin &5 %oad S0d Srdodhoy Sgrodben. .

() Fdoe: oo rddy woddr Ierde Sy !u:?ﬁ: :N )

(3 PdHo oban !J"ﬂ:-ﬂa oSy Sgrodw Fa MRl\>

4) FdoHeooddr Sgrofoes bl srdotio) Terde ﬁil" Ip::l-ﬁ;

e

80.. Malch the following Ll
List-1 Listdl

(A) Georges Cuviek (n Humm:;h_ o/

(B) Claude Bernard (I) Homalomy ™

(C) Louis de Buffon (1) Comparative Anar.nmy
(D) Richard Owen (IV) System.of Nomenclature

V) . Nuuml History
1Bcd Al zddinhdw 3

561 AN : ;sq: 1

(A) wg% LOd0E A\ -:__‘:n;.. ‘e ridogo

(B) 56 Bo~y& fﬂ:l S arod

(€) oran® 8 ws i) Howsys 488 doye TLyo
(D) 893§ 438 s (V) sd¥de S5

Ao >SS (V) (958 o8
Identify the correct malth /"
POTDS udS r‘i.:gﬂﬁ::-ﬁm
(A)  (B) (QiCH—1D) -
(M am Ny (v)
@ am G, vy
(3) (nAagy an (V)
@ @-a o av

_'_— "'
RﬁIE Wugﬂ:
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PHYSICS

A wire of length "L” and linear density ‘m" is stretched by a force “T" and the frequency is
n,. Another wire of the same material of length 2L and same linear density is strﬂcﬁ:d hy
a fﬂﬂ'-c 9T and its frequency is n,. Value of (ny/n,) is, -
L 248, ‘m' dhoss dodé do o¥ a.-: T wood a-ﬁaumun:ﬁa R
5i1pSgo n,. o dorgos® Jabhwd, 2 dH, 0T Thah Fo(dE Ko 568
a8 9T uuaﬁ" >ibdcheds 84 Erdipigo n, wond (ny/n,) hmq'.-.

(n 4:1 ) 1:3 () 3:2 arg22

P

82.

A pipe closed at one end and open at the other end remnau; mﬂw“iéuund of frequency
135 Hz and also with 165 Hz, but not at any other frequepcy :Lllt;l,'l'lll.‘d:lﬂ.lt between these
two. Then, the frequency of the fundamental note of Iﬁu plpt .

LE 3P Sar® &Y D8 BED Hod Ao u.iura;uds.-.:. 165 Hz 2r3iparge
$3R8 whardo Idod, 0 & Dok #‘-?Shg_um;n Sogdg IT 2 aspago
&'3r whTdods® Hodd. edypds Ao Thesy Z@do¥ 2inpigo Deod
f1) 15 Hz (2) 60 Hz L1375 He (4) 30 Hz

83.

A small angled prism of refractive index(.4 Is éombined with another small angled prism
of refractive index 1.6 to produce dl.-.nn-r.mh *:umhuut deviation. If the angle of first prism
is 6° the angle of the second prism'is. 7

14 3855 nfo Ao ‘blp;--rnuﬁﬂ 4o, 16 SPEPSS Moo Ao Bosd
Bgoifioo Mo 29fos. Jioko Thoar DEdmo Sodbtumr ddsSndod.
s H9¢ 'ro 6° wdnd, Bods ve¥ Fmo

(1 s A26%) () 4 () 2°

The magnifying puﬁﬂﬂiﬂu astronomical telescope for normal adjustment is 50. The focal
length of H}tcr:,pﬁ?dﬁj!:m.Thcmquimd length of the telescope for normal adjustment
is (O 1\

pﬁ"#’dbﬂﬁ .;;2:‘*1:: nfertnd® ad dypds ol w383 rSfeo 50 wf gof
ﬁ'waﬁéﬁﬁ Zem. de dHhwrsH Hoddohs q:ﬁ"# ErddoIn SaY

(1), mzm' 2) 100 em (¥ 98 em (4) 25 em

Roueh Werk
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85. Light of wavelength A from a point source falls on a small circular obstacle of diameter *d".

Dark and bright circular rings around a central bright spot are formed on a screen beyond
the obstacle. The distance between the screen and obstacle is D. Then, the condition I'w 1h¢
formation of rings is, -

n¥ Doy ui¥o Hod $dofiBggo A Ao sod, d' aghe de -D‘.:’:)_ .“.n}u's'
6 w58'¢o d 2838, of ToBIoEPI Hgy Wfy Wor Hpasidh,
da;ﬁ'i‘r'-‘& SyEsdy 'ﬁdm wiftdo wide asy i 98 b:ﬁ ;]d:_iu'n.u
B0 %, wdb'goh Sugy da'n'n D' wdyd dfes Dﬁ&iﬂ*ﬂ# méﬂh:& Nadedao

d? a2 NN D
1y @ rvgs O dvg ;.;,_ atf,,r, Awp

il

A bar magnet of moment ofinminlhvibmhdhnmmﬁ_'ﬁé!ﬂ&iﬁ&mﬁmﬂd x 107 T. The
time period of vibration is 12 sec. The magnetic moment of ‘the magnet is 120 Am?, The
moment of inertia of the magnet is (in kgm?) apptoximately

| 2ddg |zrdofo o o€ doaradmodo, t—*.é'&a wasiadmod (g0 0.4 % 107'T &
fob S Sney TFahedod. ol uSsS 500 12sec. wofadpodo Wug,
u:ﬁ:rﬁ'a{:-ﬁ Erasgo 120 Am?. u:ﬁaﬂ"}ﬁia T:h.'.:lfar uddg rdifo Jood Srdom,
kgm’od® ity Vo
¢y 1728 x 107 ONENY til 2.1 a2 102
(3) 1.57 x 1072 LY @) 1728 % 107

| b, ™

I_l".

A short magnet of magnetic moment M, is placed on a straight line. The ratio of magnetic

&87.
induction fields B,, B;, By values on this line at points which are at distances 30 cm,
60 cm and 90 cm peapectively from the center of the magnet is
M uma-aua._@péssﬁ fo wf D3) doarahrjodo o Tp Hd Dywdod.
e o8 Jo(do) %08 & Beow 386H5m 30 cm, 60 cm, 90 cm Srdod® HIy
Dodoe ﬁg Idﬁ.}ﬂ"&ud (e 3 |ove B, B,, Byo d%38
( 274 3..,3'?'31 (2) 373:1: 27
3 AT85337 4) 1:2:3
—= — - i . —e -
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Two capacitors having capacitances C, and C, are charged with 120 V and 200 V batteries
respectively. When they are connected in parallel now, it is found that the put:ntlaj on each
one of them is zero. Then { ~

C, S20a3» C, 3rhed) 903 Tods 3>Wod S6dm 120V S:0a5 mvu
u‘Eb&uE' Eﬂa sddoddougron. adidyd Ldroddom s’ﬂ-:‘i.f Eﬂ!tﬂ‘
28 o0 nd FBJE Ml PHobd. vdypd "N

(1) 5C,=3C, (2) 8C, = 5C,

(3) 9C, = 5C, (4) 3C, = 5C,

=
el Nl

89,

A parallel plate capacitor with a dielectric slab of dielectric *qﬂmn“tl filling the space
between the plates is charged to a potential V. The battery is ﬂhﬂ'ﬂixmmicd and the
dielectric slab is withdrawn. It is then replaced by :mmh::r ﬂuﬂccmc slab of dielectric
constant 2. If the energies stored in the capacitor br,t'u-:e ‘um:l ‘after the dielectric slab is
chmgudan:E andE thanfh is

Bdrodd Dufo B WS Sy BT s*.-;s.g ?mﬂs‘u 3he &'¢8 a3 aod
3rhel DBRS V ewide wdidg E‘!qﬁ:udah wrgobd 8%FAN e
3% 8vhIvards. 6'¢E Poro¥sxn! z r'fq 50T §'¢E¥ 0TH Twsd
83% adwm Hoords 3B, mﬁﬁ B'g¥o Srdy¥ Snod, $r0yS S8
ord 3>helstd Doy &) 4:_;;;::: 51 aﬁéncﬁm E, wond, E/E, dwd

9 4 /NE VY 2 3
d) 3. 2 3 PN GJ' 3 4 3

.

i

Copper and carbon wires ar¢ qnnmctad in series and the combined resistor is kept at 0°C.
Assuming the mrnbm:drrumatﬂm: does not vary with temperature, the ratio of the resistances
of carbon and copper wices at 0°C is (Temperature coefficients of resistivity of copper
and carbon respectively/are 4 x 107/7°C and 0.5 x 107°/°C)

oA B20 052 s-ﬂarﬁ 8o (ids* fodugron. & DoTord N8'¢o 0°C &6
Hosudod. Byl Yo T NEE" Ird)Toddh el 0°C 3¢ rﬁaﬁ
So0csn oW\ Adiere D08 (ovh WwE) S0din SE)S Do ep TGS
Mesof Bgdm 4x107°0/C J0dkn = -0.52107%/°C)

m A\ 2) 8 (3) 6 4) 2

Rnul_i,:- Wm‘ll "

-
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1
In the equation [P_ﬂ] krT , where P is the pressure, y is the distance, ka is Bullzmn.lm
constant and T is the temperature. Dimensions of B are H
1 L -_ \ "
[F_B]= $ ™ adgedd HhEsadosod P DASSN, ¥ drd&n,-ql.afﬂ'gmﬁ

Porofde S0cin Tafids. p T dw
(1) ML'T? (2) Mo%LT? @ MLT? O MLt

A person reaches a point directly opposite on the other bank of a.s1ver The velocity of the
water in the river is 4 ms~' and the velocity of the person in still-water is 5 ms™'. If the
width of the river is 84.6 m, time taken to cross maﬁv-ei'ﬁnudﬁnds is

2 5g8 JdadomrHdy 38 wghd Hrom Ao-PolLHs 'i!daﬁ::.‘l':._ﬁ: 586D
58 Base dms! $0a8n e VS o 535 Fys Sms. 30 Ides) 846
m wondT 300 ool bi Fosw HERLI

(1) 28.2 ﬂ} 9.4 (3} 2 (4) 84.6

93 L

A body is thrown vertically upward from. & p.m.nl 'A' 125 m above the ground. It goes up
to a maximum height of 250 m above the Imu‘:ﬂ and passes through ‘A’ on its downward
journey. The velocity of the bﬂd}r \lﬁm ll; I!L.I.l a height of 70 m above the ground is
(g =10 ms?)

wE 5P Frd Sod 125 m Jd’u ;’:d ‘-’a:&l Do) A H0d DenPHm o
DHCndSs. v SHY ﬁ:'-'..h 25af/250 m HO0L JEISE Sonib. w SH fods
::ﬁ:ﬁmlmm. A ooy a‘*d:- grde %08 70m J&6° HI Hde oo Fdsw
(g = 10 ms)

(1) 50 ms™! m Gﬂ ms‘ (3) 80 ms™! (4) 20 ms™

A body of mass 3-:11 lng is muvnd through 10 m along a smooth inclined plane of angle 30°.
The work done’i ia_moving in joules is (g = 9.8 ms ™)

300 kg (SSgorE MY o8 S, 30° FPedn Ao BBDS Too Sodx Sowd 10m
ﬁﬂu‘.’.&ﬂ:ﬁhuiﬁﬂ D SPodFBneS® wOAS I, £&yS* (g=98ms?)

(1) 49&} (2) 9800 (33 14,700 (4) 2450

"
—— — ——

Rough w-rn .

- 1
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A balloon starting from rest ascends vertically with uniform acceleration to a height
of 100 m in 10 sec. The force on the bottom of the balloon by a mass of 50 kg is

(g =10 ms™®) NS
o€ DorS DA ohd 08 Dg DwPm SIE30EIE 1E SHIw 10 B
selus' 100m J8%H TS, S0kg [BSgo% & Dors edofl r;*dﬁ::‘:: Seodl
datw vodxn (g=10ms?

(1) 100N (2) 300N

(3) 600 N (4) 900 N~

Three particles, each of mass m, are placed at the vtrtinuﬁf-i_ﬁgh angled triangle as shown
in figure, The position vector of the centre of mass of the system is (O is the origin and
i, ],k are unit vectors) ..

o8 conf'e [Bhadn Tl deSse SUEIE 505 ESgobe Sosost
Sraedie Hodudid v SgR% Ldﬁau-& Tol8D e 204 (0-Swro Dodiy,

i,j.kos [D&re H04e0)

> X
1, /N 2, = .=
(1) 6i-8)< . (2) (ai+bj)
5 EIE;T—'G} @ (i +b))
. 3 :

Rough Work
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97. A ball of mass ‘m" moving with a horizontal velocity ‘v' strikes the bob of a pendulum at
rest. Mass of the bob of the pendulum is also “m". During this collision the ball sticks with
the bob of the pendulum. The height to which the combined mass rises (g = ac:r;imuan
due to gravity) '

‘m |SSgord Ao w¥ wod 8= Dirodd Ido V' & !ﬁ:mﬁ:‘ :,'|-:r-§; iad‘
ﬁ_}ﬁl af ¢'vfo o) Modsids e 38, ﬁ"::!h faoda Lﬁﬁsm’i dra ‘m’.

& whordod® wod Sfofy MHodks ud.:r!.;c}:—.':lbnaaii ﬁmaﬁm! tdi':aﬂ'ﬂ KL
Y03 24y (g = fadady @28 mSn) '

2 2 5N ”"-i‘.- /7 2
v v v '- i v
I == (I) = 3} = o 4y —
(1) g 2) 8g (3) AN (4) g

98. A 3 kg block is placed over a 10 kg block mdhdthareplaced on a smooth horizontal
surface. The coefficient of friction between the l;ilql:tp 18 0.2. If a horizontal force of 20 N
is applied to 3 kg block, accelerations of the two blocks in ms™ are (g = 10 ms™)

3kg B350 Ao wf O3 10 ky @gER Mo 20 85D sodInsid
S:00in o Tods af HHHI AEs BIResE SoduDd HoSndID. ¢ Jok
En;.‘ua_u a’hcﬁs éagm ﬁanf:ﬁm t‘ll 3 hg Lﬁﬁsmi"a 20 N 8 Sdro0dd woo
PWrAoLSPd:, o 'ﬂ-uﬁ:_. Q"ﬁ;ri"n d38mSno, ms 2o¢* (g = 10 ms™?)

W=02|3kg —> 20N

13 -~ 14 13 14

(1 Tﬂi \ (2) ?3 (3) 1-13 “) ?n.ﬁ
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A stone tied to a rope is rotated in a vertical circle with uniform speed. If the difference between the
maximum and minimum tensions in the rope is 20 N, mass of the stone in kg is (g = 10 ms™)
L5 oD Soudd oron af Dwd S)dsedt Jgba 148 800850, o S50 8D
fdR, $0R SSgde BIEw 20N wond, con B3g0F kgod' g = mmﬁ:_'-

(1) 0.75 (2) 1.0 (3) 1.5 @ 05

100.

1 . -‘ 5 - 1 .._ '.. a
A particle mass ‘m’ is attached to a thin uniform rod of length ‘a’ at a distance of a from

the mid point C as shown in the figure. The mass of the rod is 4 m'.':','?l'hc moment of inertia
of the combined system about an axis passing through ‘0O’ and pérpeadicular to the rod is

4
[B330°% Ao fosn Dosed* Srdudstm SACINASS. £ BSg08 4m". 'O’
argor €48 vondum I wfo Towd HoduL BEH TwE) =ddg FrSefln

", - ‘m.

o’ PdH o wE D¢ 68 HI5)D £§ Segg ﬂad:-a;_c:'ﬁsaa S SrdEnet ‘m'

; C I .'_:'_lsﬁaa-i' 'm”
04 S, .
P AN
" ZN0YY Yoy Sl 64 a2
(D ™ @ RS e ) &™

101.

If carth were to rotate on Ii; own ixis such that the weight of a person at the equator
becomes half the weight at the poles, then its time period of rotation is (g = acceleration due
to gravity near the poles and R-is the radius of earth) (lgnore equatorial bulge)

Frigsle 58 L@ 8/0hd §)me 5§ HI) vhHS® vMo v&Hmr aod
O, Frd 45 Jgreeds 85 wfo Bomr BEHMmES bond, ol W38
Sodn (8= ¢J@o Bd Mdidg d30mdn, R-grd sgddse) (Frddgde 3¢
S DD 00ud5dn)

FRAN R R
2 ———" ¥ —— 7K [— 2w |—
(1) “-iﬂ = @ = 3) ,)_,,E (4) ,,fg

R-nllgt_l.-m L o
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102. A particle is executing simple harmonic motion along a straight line. At displacements r,

1 l_-" I
103. Force constants of two wires A and B of the same M WK and 2K respectively. If

andr,_.frc-mnsmmpnsmuulh:whmmmur mdv Th:tlmp:nndufﬂ::pumpl:
is

of Imdn of DIVIp Towd BV Tod)¥ Jodsw Tawdin)a, Z J

Sodgly rddn Sod Teorw 1, o PI P fedv ﬁﬁa‘mmj

v, mam Vy SmEw Gloa 343 5‘95&:
e.i.;‘%__/
2 3 M2 2 12 i, ¥4
1 2al 4= 2x| - — (o8 S
L [v%—vt " [r§+.] QS
NGO\
2 I\fi\;::‘]r,:’ﬂ
1| vi+v n AT
) 5[‘,9:‘_":1 (4) Eﬂ[ ﬁz&“‘n
: H DANNS
o o H__'\.,'

rr_;w
" W
the two wires are stretched equally, then the rgyo#f i( )ft done in stretching [E’h] is
N, B

9 | ‘én*ﬁo!‘ Hohwds A S:0cis B -&.rﬂaﬂa 8o v HoofSne SHB™ K
RO TD Il{ v Tods 8Mods ﬁﬁrﬁnm&}&ﬁhmi 80 >Abahdos® 2005

-‘\"‘.
w H\"‘\-\._.-:.f F
Sd%0 a8, [—i] jk\\“‘-\‘x J
Wa 'f“‘n
i X f“‘“w e 3 i 1

104. Waler rises in a “E"(l&l up'tn a height of 10 cm whereas mercury depresses in it by

3.42 cm. Iﬂh:an_g and density of mercury are 135° and 13.6 gm/cc respectively,
then the ratio p‘[“,lﬂ-i-‘nffﬂr.c tension of water and mercury will be nearly

nf i cr.i.:qlﬂn D& 10em Jdx oo, o) S80I Rabods 342 cm
Sifada, ooyl fedn S0dn IoEdes SSum 135° Sbadu 13-6 gmico
umﬁfﬁﬁfﬁm $:00kn PEIBIve Sodigde D8 modiikodm

A
g{fﬁ\:l @ 5: (3 16:5 e

L 5 e ¥
#: = —_—

S

y

Rough Work
Pl

%
{-h""--,.f:

L.
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105. Two capillary tubes of lengths in the ratio 2 ; | and radii in the ratio 1 : 2 are connected
in series. Assume the flow of the liquid through the tube is steady. Then, the ratio of
pressure difference across the tubes is 7.

Fgreo o D038 2 : | Hbcle agdrgre D238 1: 2 de 'ﬁnﬁ“‘!%ﬁ'{?!
FPeres (AdE® Ceodudsd. Modn orgo (E8 (Darrde Rodaem n-;ﬁlﬁ ums‘ud
wdpd Mo DS8o bdssue dae DD AN

(1) 1:8 (2) 1:16 @) 32: 1 __{_4}'1'_.-'5['

i ¥ |

106. When a liquid is heated in a glass vessel, its cuuff'uiqpt m’ npparent expansion is
1.03 * 107%”C. When the same liquid is heated in a wppct vessel, its coefficient of
apparent expansion is 1,006 x 1072#C. If the cu:fﬁmcm of. hnr.u expansion of copper is

17 = 10767°C, then the coefficient of linear :xpnnlu:n qf‘ ghls is

v mar IES wf Eody Fa ﬂa-ﬁ&;ﬁ_:fﬂ*;} S)dg gy domdan
1.03 x 107/°C. 08 SRy, oh :ES* Fa "ﬁ’h;ﬂ"}uﬁa oD Sydg g8 NomEsn
1.006 x 107/°C. o*h B g ogs*s mmm 17107%°C wond ma- By g TgesS
o fdw N 7

(1) 85 = 10%C (2) 9= |ufﬂjp._'ﬁ--:-.m 27 x 10%°C  (4) 10 x 107*C

Fa ¥

107. A horizontal uniform tube, metl bbli’l ends is containing a liquid of certain length at some
temperature. When the lﬂnpmuurms changed, the length of the liquid in the tube is not
changed. If ‘a’ is the miﬁm’ﬁu of linear expansion of the material of the tube and *y' is
the coefficient of vnluim*. ‘expansion of the liquid, then
Bodo Je BELRY, Lbe dIroddomr ey n¥ D868 Fysndods Fod
PEH S8% o ._5535-'::: v afffd 3¢ Lol o el Srddhds Fyo
S E s:r-a;'g Srddd. w Foy dorgo Wedy By T8y Muso
3 50000 e (B85 PIDOIrw TS HwEsSn Yy, wond, edyds

fll'r ;’-n 2} y=3a (3) v=4a 4) y=a

“"'!llﬂrflr"-
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108. Match the following from Table A, in the case of gases, with those in Table B

Table-A Table-B
Vs
(a) Work done in isobaric process (dy nRTlog, v,
(b) Work done in isothermal process € P(V,-V)
nR(T, - T,) \
(c) Work done in adiabatic process (f) _[TL_I_L "l
@ Zero %
THsHod® & Bod D SLE A Si0d 544 B 72 udﬁm
Sge-A ag:«n N/

(a) 6 SDda (dichod® =083 B @) ﬂ”ﬂ!e[ ]

(b) 58 a8 DEcod® =20A35 B {;}_:_'I PV, - V)

L2\ T oR(T, - )
(©) 3858 Blahe® mons d LW T o
I
: {g] Ardgdn
() asebardc—of 1."2} a-»hb-—sgc—re
(3) a»e,boadc—oyg H?l--llg.h--}hc-r:

109. Two cylinders A and B ﬁnedmihmmru contain equal amounts of an ideal diatomic gas
at 300 K. Piston of A is free fa-move and piston of B is fixed. Same amount of heat is given
to the gases in the two cy’:i-lll.ﬂir'ﬂ' T;:mpcratme of the gas in cylinder A increases by 30 K.
Then, increase in t:mp&mtu.r_: of the gas in the cylinder B is (y = 1.4 for diatomic gas)
Suhoflues ﬂnqﬂuad. A 30050 B ud Bods prdres Dird H0Srede
e o8 edd) ﬁsﬁﬂﬁrm! raingyar 300 K ;.‘-g £0NREyD. A e,
Snhofdn 'ﬁ:aﬂ’.}ﬂ P00 %% B W) Inheofin Rddom DAoSwdis. Dod
prdros')Tdvied D305 20IreY 4L 5w adgedSs. A Pr0sw Sosd
TR G 30K DOASS. B o0 5080 T e ASS B MEe
(B3 DYETN S RRHISE y=1.4)

(1) 24K (@) 36K ) 54K (4) 42K

nﬂﬂ* w;-rk 8 B

%
S
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110. The temperatures at the two ends A and B of a rod of length 25 ¢cm and circular cross

section are 100°C and 0°C respectively. In the steady state the temperature at a point 10 cm
from the end B is (Ignore loss of heat from curved surface of the rod)

2 .
25 em 4H Mo Ieed Sggdysse Ao uf §§ Tof) Tod ATdew A
S:0cin Bo 8d adfidfdes S&dm 100°C Hdain 0°C. Defd Hadt B-iod
10cm Dothy 58 afyis (§4 S8ore od af 32D, BY & Eﬁmﬁ'ﬁuﬁ-ﬁaﬁd::

(1) 60 °C (2) 80°C (3) 90 °C (4) 40-°C

p—— v -
-

111. The necessary condition in making of a junction transistor {E-eﬂiil.iqr; B-base and C-collector)
(1) E and B are lightly doped and C is heavily doped’ . "o, !
(2) E is heavily doped, B is thin and lightly doped ami l::}i.s. moderately doped
(3 E and C are lightly doped and B is thick _nmi"l_iﬁy'ily doped
(4) E and B are heavily doped and C is ll.ghﬂy dup@d

S0 Fa;,g;sm ddﬁrﬁaﬁaﬁm&mdﬁ Eﬂgﬁnm Foddehd dabivde (E-agrdso,
B-wgrdo, C-H8d8d)

(1) E&obcin Bew Hgoqyomr &q1$ﬂn Yob, Cedghiom Srd%8mo Tod dodsod

(2) Ewdgddomr Srésdmg Johnd, Bdoym o8 Sgujor Srdddmo dahwd,
Cdormr Sr&80mD.0od dotnod

(3) E 30808 C 9goyeny’ 3rb8dmo Tod 608 B $080m a0l wigdform
Sr8sdmo Do -Abesod

(4) E 30008» Bos wdgasom 3rbfsmo dahwd, Cdgojom 3r886n0 Dob
dotngd

Rough Work
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112. A pnp transistor is used in common emitter mode in an amplifier circuit. When base current
is changed by an amount Al, the collector current changes by 4 mA. lfﬂummpllﬁ:mn
factor is 60, then the value of Al is il
w8 pnp |08 8% 4358 agrds Dordod® wi Y Sedhodt nr'.‘}"m?ﬂoi:-

8. ugrd [Ptrodt 518 Dend Aly wonddypds, HESd Laa-a-a# -ms:_-;,
4 mA. Dardr 3¢Y bmfo 60 llmu:& Al deod
(1) L5 pA (2) 240 mA
(3 66.6 A (4) 60 pA

e

113. A U reactor generates power at a rate of P producing 2. %~ Tﬂj‘{lsﬂm per second. The
energy released per fission is 185 MeV. The value of- E’u SN

1) 59.2 Megawatts @) 370.510% Megawatts

(3) 0.59 Megawans (4) 370 Megawatts

2% 10 Ess D000 S TWan af UPYourgd: P Jes daggo ado
5T%od. 188 0088 Bwsd 48 -ﬂm‘.’: 485 MeV. s pds P Tng), Dens

(1) 59.2 Borr a8y Ao NY 370 = 10° Jore &y
(3) 0539 T &) -:.{_#} 370 e &)

114. The purpose of using heavy \mtu'm nuclear reactor is
(1) to increase the cmrﬂ'ﬁiﬁﬂ in nuclear fission
{2) 1w cool the reactor ta mm temperature
(3) 1o make the drunnm*hlales to work well
(4) to decrease thie t.llﬂ'nf of fast neutrons to the thermal energy

Srpdabhds ugﬁ.ﬁ‘;ﬁ,d" 8 =ood DTrAcHdsH FEndn
(h Bos8 250 ddde waby 1§ Dodob
(2) OEPEERND a8 6% Sgadbuh
3) G5 Bows oo SITkob®s
o) Do srgems 180 ahok ¥ 308 Spodes
Revg iork
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115. The K _-X ray of Molybdenum has a wavelength of 71 x 107'* m. If the energy of a
Molybdenum atom with K-electron removed is 23.32 KeV, then the energy of Hﬂlrhdl:num
atom when an L-electron removed is (hc = 12.42 = 107 eV)

510950 K- X 8dmo Twgy 8dod Bggo 71 x 107 m, Kﬂg&-g_‘{:guﬂm

FonodsPds 5r0DS50 H63rmPy o) 4§ 2332 KeV. o 8 go*a

Jdogass Bofoddpd IrODI5 dosred 4§ Deod (hek “rt-um 1077 eV)

(1) 175 KeV (2) 40.82 KeV .f*ff"

II.f_ ‘w..\‘-.q_‘.'
(3) 23.32 KeV (4) 5.82 KeV Q)
& “‘r*-:&xﬂ
"k"]r;
116. In Moseley's law fy =a(z—b), the values of me,mm“‘u;\ constant for K-series and
L-series of X-rays are respectively i :;’\:‘» Y
rp Do Jy=az-b) S X-3dmro ,K"“t?ﬁﬂif L-4c38 3dda Sy Do
2ofo Toly DesSen ,L’L Y,
Ae J
M) 1, 6.4 (2) 1,4 Fl) 4, 6 4) 2,4
_-’r’..ﬁ‘xm v
ll:-\\-:\n\'_::l

117. An electron beam in a TV Plﬁtg!ﬂf‘l‘%lﬂwltﬂtﬁj through a potential difference of V
Volts. It passes through a regic ﬁﬁ:ggnsvme magnetic induction field (B) and follows a
circular orbit of radius 'r". huﬂ&;&:c-d magnetic field (B) is

"'\._Iul

a8 8D D& wﬁm{n ogys: fomo V Leses eJabd Hbo oo
Sgdcdasosn ﬁaﬁ:ﬂ&fﬂ Poudn of 88gf wdhdyod F (Ho (B) ogo
e, 1 g Y K6 538 o5 e Srgswese 632000, wahdod

(208 ¥ |80 ﬂ}j"'. =
S
\ 3 2mVr 4 2mYV
(3) -1! 3 ) iy
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CHEMISTRY
121. Which one of the following statements is correct 7
(1) Sucralose is an antiseptic #2) Lactic acid is an ant:mimbiﬂ
(3) Seconal is an antipyretic (4) Chloroxylenol is a mi;nl'lm-.f
8o DSEne' DB HOTIA? e 4
() WES'E of Srod S @) 88 uo b EreSHE' DS
(3) Tofrd o8 ugd Js0d 4 g6 E;BM t.!- [&a!s Bub

.
"

122. X« Glucose — %, ¥
What are X and Y ?

X Y
{¥) n-Hexane Gluconic acid
(2) Gluconic acid  Saccharic acid
{(3) n-Hexanol Sunch.tm: ilr.lﬂ
(4) n-Hexane Sa:du,ri‘u. md

Xl grs'dE —p—-l—t"i"’
X 30080 Yeo ::::1 '
X A
W ngs (Y '_';".;u-r:a: wiyo
(2) ArE*RE uﬁoﬂ %508 edo

(3) '.:-qﬁ‘ﬁ #5085 wdo
'{4} _n- .r".-:s %5+0E oS0
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123, Identify the pair of condensation polymers from the following :
(1) Terylene and Nylon-6,6
(2) PVC and Polystyrene .
(3) Polyvinylether and Polyisobutene ~
(4) Neoprene and PVP 4
Bod =8 Hopeds 2038 =4 HloPdw
(1) TOS Hb FerS-6, 6
(2) PVC Jobgin EI""'..:IEE
(3) FOIFE gl E’uzi:ﬁu arlD uﬂ"urstjﬁ
4) JT(LS Hobokn PVP

124. The order of basic strength nt‘C H NH:{]}. C‘.‘,H,NI-T {;}; {E H,}zﬂH (3) and NH (4) is:
C H NH, (1), C,H,NH, (2), (C,H,),NH [3] i‘nﬂdia HH (4o ¢ wo ([FSdxn :
(1) 1<4<2<3 m|<3{2-:4
(3) 4<2<3<1 i HJ 3J<2<q<l

'\-\._-

125, Which one of the following fe:clims is ot n::.n;‘.lrmct ?
ol Sdgod' 20 ﬁﬁﬁaﬁﬁ'-i‘dﬁ

(1) CH,CHO + 5 o; """‘:”*"'ﬁ""‘""" > CH,COOH

" Mioderma sceti (8'B0y I8
{EJEHCHDHFO.I sl st B

L
(3) CH MgBr —-:.I = CH,COOH + Mg(OH) Br

» CH,COOH + H,0

Ca/A, pressure {bdS0)

() _5:'[!1'1)‘}1 + CO — CH,COOH

Rough Work
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126. Which one of the following reactions is mef correct ?
Bod Sdgod' 28 JOTHS sb? -

(1) (HCOO),Ca + (H,CC0O0),Ca ——» 2CH,CHO + 2CaCO,

(2) CH,CH(OH)CH, —S3%C_, CH,COCH, + H,

(3) CH,CH,0H —22%C , cH CHO + H,

{4) 'I::H1 = CH1 + l:"l|:|l‘::]:1 - HID _...I'_r_i....} CH—JCH'I:I +Pd £ Iﬂﬂl .. \3

127. The pair of chemicals used as food for yeast in the fcnucnmliﬂn of molasses is :

IworhS TeE) ey PP &% uinder as@racTd Sddhae
ed @ i e

(1) (NH),SO, Napo, 2 “0) (NH,S0, (NH, PO,

(3) Na,SO, (NH),PO, /50,7 '(4) NajSO, Najpo,

128. Which one of the following it chloropicrin ?

god sest fouEs, Jo2

(1) CCLCHO( T/ (2) CCI,—?{CH,)I
A O OH
3 CCTNG, (4) CHCl,—CHCI,
P e ——————————————————
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129. The correct Fischer projection formula of (2R, 3R)-2, 3-dihydroxy butancic acid is

(2R, 3R)-2, 3-B7r @08y wgosfonf ef5» Bofy HOTS Hab ;
e
@

(L ~COH 2) CH,
H.—{ \OH . H o Ao\
i i Yy

F
(3) i @) @@
HO——H ‘\
HO—— H %S} 1
[
COH L

CH
.} 3
130. Which one of the following causes cancer 7 b
(Y) 1, 2-Benzpyrene ' exane
(3) 2-Butene _vcluh:xant
|Bod 8¢ 8 35385 !mﬁﬂ :
(1) 1, 2-Bodb5 \% n-r 7S
(3) 2-wogds 2§ s

131. IUPAC name of

{Z) 4-Ethyl-3, 3-dimethyl hexane
lane (4) 3-Ethyl-4, 4-dimethyl hexane

(1) 2-Methyl-2, 3-di
(3) 3, 4-Dicthyl-4.n

(2) 4-285-3, 3-BRBS »US
(4) 3-385-4, 4-3%3d wUS

518
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132. Carbon and hydrogen in an organic compound are detected as
LE E)S DEREIING'D eES Soan E'=Sos m g A,

(1) CaHCO,, CaCO, (2) CaHCO,, CuSO,5H,0

(3 CaCO,, CuSO,5H,0 (4) CaCO,, Cu(OH),

133. Maich the following : _
List-I List-IL A/

(A) pH of unpolluted rain water () H,C = CH-ECHOY/
(B) Acid rain m s6 A NO\\V
(C) Acrolein am Noy oy
(D) Freon (Iv) CE,0l, o/
(V) /€aDC,;
Bod 8D adddwdbdw : A \
arfer | : S eoen
(A) switig 68 o5 d¢ pH /W) H,C = CH-CHO
(B) w3 S¢S LN, 5.6
(€) Eb5 /NE ) ay No, co,
D) (HSrS QN (V) CFRQl,
- (V) CaOCl,
The correct answer is : _ '/ ©

2OTHS BIrEIIN T
(A) (B) (€] (D)
M ay o —wbh ) av)
2 (M Wm av)
(3) (M) A~ TaAV) (0
@ (e () @  av)

Rough Work

/AM2013 B 52 8.



www.eenadupratibha.net

A\

134. During the manufacture of cast iron, the slag (CaSi0,) is formed in
(4) Zone of reduction only 2,
(2) Zone of fusion only |
(3) Zone of reduction and zone of fusion
(4) Zome of heat absorption
Fd addn Iordd darlst, v feo {':I.SIQ}} hﬁqmﬁﬂ

(h ;:ﬁasﬁm Sodoind® Sr@Ed

(2) BOFES Dododnd® Sr@dd

(3) gob¥de Sodokn (SNPSS Sodorod®
4 ajfie Lodosodt

135. Observe the following statements : _
1. Lanthanides actively participate in_nlwnﬁn]_ rél:tium.
2. The basic nature of hydroxides 6f Janiharides increases from La(OH), 1o Lu(OH),
3. Lanthanides do not form omrdmlln: compounds as readily as d-block metals.
Bo8 D30moss HORDONTED.
. oog3be 83abd 030’ HHHm dFotran
2. 008386 @ IEogE dgersin La(OH), %08 Lu(OH), $6& Tdbibdsed
3 orogphe satf b dren doh SFHeos S08m adgy.
The correct stateménts are :
50505 F9od :
(1) 2£37~ @ 1,2&3 6) 1&3 ) 1 &2

—_— —

Rough Wark
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136. Identify the correct set :

Molecule Hybridisation  Shape Number of lone pll'i_-if{: -
of electrons
(1) XeO, sp d? pyramidal IR?__N';'_“E-‘:’:?
@) XeO, sp’ pyramidal 1 A
(3)  XeF, sp d? planar 3 “«,t:
(4) XcF, spd linear xz’
POTHS DB MBoded : g bt g
L)) SofbEinsdn w)d :..:m\ Qgé';.ﬂ Hobo
?_F:ix:"’*-f‘::, \ Visomg
hxﬁ :
(1) XeO, sp’d? wmﬁ& I
(2) KEDJ 5|:|il ﬁﬁﬂ::‘i’ﬁh“‘* 1
(3) XeF, - spid? :'a:samh&ﬁ‘ 7 3
(4) XeF, spd ﬂﬂu{.u 2
ZSS ~

L .l

137. Fluorine reacts with KHSO, 1o fnrm\Hl-" lnﬂ'ﬂ Which one of the following is X 7
$65 KHSO, o* M;ma’ Frgn,ﬁ::&» Xoss Dydssso. $0d T8 X D87
(1 so, @ K,_Eﬁ‘ / (3 K,8,0, (4) H,S

—|-

._.l' -

138. For the equilibrium ae{ﬂq_*» ﬂm + Cigyi K, = 0.82 atm at 27°C. At the same temperature,
s K in mol lit™! ‘;;[F,,ft 0.082 lit atm mol™' K™)

]
27°C. 3¢ A/ r::','t._ﬂ.;r}.q. C., °5:e388 K =082 Jory. o8 afyid 3§ od
—t

K, dend, ::- Olos® 1 R=00826 dovy 3! K

#1) ugﬁs = 2) 3.3 (3) 1.0 (4) 0.33

,;H —)

-

{
AMIJ- B 54 8§
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139.1f the solubility product of MgF, at a certain temperature is 1.08 x 1079, its solubility in
mol I"! is
w8 9% ng‘u'iai 5¢ MgF, esdabe vgo 1.08 x 107" woxd, o Ln-:nsdh&._
ars bl y 7 ot

2 Ay @ 73 x 107 N
(3) 3.0 %107 (@) 3.0 x 10 49
140, In the reaction ’ -
“Hﬂz.: }+ Dzm—}zﬂlﬂsm, AH=-111kJ & -
e
if HEDS{ " is formed instead of Nzﬂ'!{ . the AH value ink%ds.; W
. N ~, ..'x.-.-'
(AH ptimation T0F NyOg = 54 kJ mol™') N A

INO, 40, —2N0; ,aH=-111 &)

Sdgest Hzﬂ’t : wdes N0, ;}da!pﬂ -"g,.;'[;' Doss § o &

(8a) :
- 3 b/
(N,O, & AH oyl 54 8 E‘drﬁ‘ »
#) -165 AN -57
(3) +219 NN 209

141. In which of the following wa;illm. H 0, acts as oxidizing agent ?
& [Bo8 JEgost. D, ﬁn;ﬂ‘ H,0, ubysssm sadasnsa?

(1) Cl, + H0, :HLH 1}2

(2) AgzmH,n —aw H,O + 0,
moist, $& | '

(3) 2NaQH + H,0, - Na,0, + 2H,0

) &N{}IQ-HI{JI — KNO, + H,0

Hnugj"l‘»\l'nf .
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142. Zinc reacts with hot and concentrated NaOH and forms :

208, 8 5:0c5n mF NaOH &' S8gSod dEHsssa M
(M H, (2) Zn(OH), + Na,0 Zf*-?';?ﬁ
(3) ZnO 4 o,
4

143, Orange red coloured monoxide is : oy

wBo2 6P doh Mo Ira3 ydb : a ra\Y

-\.,\.h ._:h xx ‘_.-"r
(1) K0 (2) Nﬂ%ﬂﬂf
(3) Cs,0 (@ L0
e .

144. Observe the following statements : [y [x“w’-,

1. H,BO, is used as antiseptic ;’ ' 1"

2. InB ,H, each boron is sp? hyw

3. Aqueous solution of borax is iﬁ:ﬂl@: muniluu

208 DSSmes auiaua.{sn\ v

l. H B ﬂ dirod n}%fﬂ" mﬂ:

2. E H &, = ﬂ"ﬂ‘é-’m; 'ﬁﬂﬂﬂ:’ﬁﬁﬂﬂu Fobis

x 5 iﬁ"l:l"E_‘:, uuﬁ:‘l‘-ﬂﬁ:ﬁp rd gomdy £ON asotwod

"1-_.-" '\-\\"
The correct siawmmum
HO TS aﬂaga
(1) 19(1 w = 2) 1,2&3
mﬁlf&w 4 1 &2
Rﬂ!lﬁ"ﬁ* i
__,f... i Y
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145. Assertion (A) : GtF. and SiCl, act as Lewis bases.
Reason (R) : Ge and Si have d-orbitals to accept electrons.

The correct answer is : N
(1) Both (A} and (R) are correct, (R) is not the correct explanation of (A) :;‘-3'{’_‘;‘:.“
(2) (A) is correct but (R) is not correct Fﬁ

(3 (A) is not correct but (R) is correct “«,::j

(4) Both (A) and (R) are correct, (R) is the correct explanation of (A)
DE&S&#_{A} : Gl:F a8 ol En‘.:l & aroung orem 5ﬂﬂﬂ4ﬁ£

Fénds (R) : JogySods SEwes G Hdak Smﬁlﬂ-ﬁp@gﬂ‘ﬁg Botros.
BOTLS Ddrorddes 7™ fa \V

(1) (A) &:0ai: (R)ew R0T03D. (A)S (R) dﬂ-ﬁ-‘ﬁ bﬁ\&w -4

(2) (A) S05L35& =3 (R) DOELIE & % .:\ “'-\H 7

(3) (A) 50TH38 5 5 (R) HBOTHSE )
(4) (A) S0 (R)=w ﬁﬂﬂaﬁ:‘. (A} [R] :ﬂﬂ-ﬁ'@-‘# Sude

.-"

_-r. — b _-"

146. Observe the following statements : / x \
I.  The solubility of group V h)rdndﬁﬂ\"h ﬂﬂ decreases from NH, 10 BiH,.
2. Phosphorous does not cxh;ﬁ:t ﬂhlmpﬂf._
3. The stability of group V h)!nfnqh.s decreases from NH, to BiH,.
208 D3dmes auian&pa > ol
. A, dry V .rg}m: |o3cdasad NH, %008 BiH, $8% &fd00.
2. Ry drﬂ'uﬁﬂ‘m’b‘ (280088
3 e V m?}ﬁu fddsh NH; %008 BiH, 385 dé{:8.00
The correct mtem#_ql[s} is/are :
B Hﬁﬁqu}l :

S

(W 1 &3\ @ 2
() A&z @ 1,2&3
Ropgh-Yogk
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147. Sodium thiosulphate reacts with dil HCI to form NaCl, H,0, X and Y. X reacts with Na,§
to form Na,5,0, and Y. Which one of the following is ¥ 7

Facioo qiE.r‘::E;,E 285 HCls S8gTod NaCl, H,0, X S8dix Yo ﬁﬁad;fmnﬁ-
Na,S&' X $6gFos NaS,0, S005» Yo ﬂdﬂd&ﬁ:uﬂ \Bod >t :m-r

(1) H,S ) so, _(3) H,S0, @ sl

148. The energy required to overcome the attractive forces on the cluch'nt;é} w of some metals
is listed below. The number of metals showing photoelectric ei"&pl. whc:r light of 300 nm
wavelength falls on it is : 4

') &'Fte JogSeo b do i boroi m::ﬁf.baﬁ ﬂ w, (B0 aSgndsd.
300 nm Sdoff Bggo Ao 5708 2A35P, s0d Qd@iﬁr ;‘_‘.‘:r'.!,:l";‘.ta Srdy :3";.':'-;5.:.::}
dogg

(1eV=16x=10"7")

Metal : Li Na K Mg f;ﬁ'_ Ag Fe Pt W
(&*dvo) . R,
wi(eV) : 24 23 22 13 H A3 47 63 475

(1 6 @ 8L @) s (4) 4

149.If the uncertainty in wlmiiy_.nfi.mving object is 1.0 * 107® ms™' and the uncertainty in
its position is 58 m, _Ihn,liafﬁ._i'uf this object is approximately equal to that of :
(h = 6.626 x 107 Js) "
(1) Heliom [ '-m} Deuterium (3) Lithium () Electron
dasdod e ﬁ@m Wog) FAos® eI g0 1.0 x 107° Do H! Badosw
Q“A’mﬁ" nﬂi‘&ﬁ;‘!su 58 5 wond w S0 Ldﬁau‘l' fudrdm 3R Lﬁiﬁaﬂ'ﬂ!
S5r50 Ak =.6.626 x 107 %)
(1) !_:pér:ﬂ'in . (2) drgdocso (3) Ddcko (4) doges

Hugﬂ%‘h'
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158. The correct order of atomic radius of Li, Be and B is
Li, Be S:0cin Bo dddre avpgdrgre 2003 (FSdx
(B B>Be>Li (2) B> Li>Be (3) LizB>Be (4) Li?Bc:_h_j_]..--

151, The number of o and n bonds present in acetylene are respectively
Jhbb5st 335y o S0cdin m woge Bopg SHHm
M 3,2 @ 3.3 . (3) 2,2 @r2.3)"

152. The total number of antibonding electrons in N, and O, moleeulbe :.:-;uf:;:ctiwl:,r I8 :
N, &b 0, uma‘uaﬂ‘;ﬁa.ﬁl Bwdo wiwody D::g'jﬁu ‘a’:ums 2&BHm
a) 4.6 2) 6,8 ® S @ s

153. Consider the following statements for the Tt-lntin:rl"
lgij’ + SKI + 6HCI —» 31, + 6KCl + 30
1. I is reduced 1o I,/ ™
2. 107 is oxidized to 1,
3. 10] is reduced to I, ;
4. Oxidation number ﬂfl m:ruu; fmm -1 {m KI) to zero (in 1,)
|Bod Sdgm,
I'l]ﬂ + S5KI + 6HC] —» 3[1 EKCI + 3JH U
wddmoid 'ﬁﬂi‘ﬂﬂﬁp_ﬁ 0.
I I, m gah8diio, Boass
2 o, Lm H.E.J,E'ﬁhn;r DoaS58
3. 103, L, m e Eino Jobda
4. 1 ms;, SbKdno Bopg -1 (KIS $08 %8y (Leh% B8NS,
The corrgel stdicments are
ol Res s SR R
(A1, 28 4 @ 3&4 @) 1&4 4 1,3 &4

Rough Work
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154. Two gases of molecular masses M, and M are al temperatures T, and T respectively. If
T, My =Ty M, which one of the following properties has the same value for both the
gases ? o
(1) Pressure (2) Kinetic energy  (3) RMS velocity (4) Density.

T, %00 T, affide 3¢ do V6d oduHe emercw I&HT M,
Sodde My T, Mp=T, M, woxd, fo8 or¢" » Tods ﬂ'cﬁufﬂqh % | ﬂ-mﬂ
e ﬁﬁam /

(1) bassxn (2) o= 48 (3) RMS Jdo < 'm;-;ﬁ-uLd.j

155. The weight in g, of the non-volatile solute urea WHECDHHEj-.m__hu"ﬁimlv:d in 100 g of
water in order to decrease its vapour pressure by 1.8% is:
o) LdSed 18% Sjodadd 100 v bnxr::‘ :‘{nﬂod‘.ﬁu B3 wovajle
(D850 by {NHll:DNHI} a8 S0 |5v.w*

(¥ 6.0 (2) 03 (3).-3.8y (4) 0.6

156. The boiling point of a solution containing 6#4 : ﬂf sucrose (molar mass = 342 g mol™')
in 100 g of water is :

(K, for water = 0.512 K kg mol') \

100 ™ d8s* 684 ..-..:-Ls‘a! 1ﬂmu*du = 342 ™ 3rSH o TSR
'waaa‘;‘:;& ,"‘h;&u : ™ :

(D8 K, =0512K kg I 16

(1) 98.98°C @) 101:02°C (3) 100.512°C (4) 100.02°C

157. A certain quantity of etuctri;:l'lr 15 passed through aqueous Al, (S0,), and CuSO, solutions
connected in series. 0,08 g of ‘Al is deposited on cathode -:hmng electrolysis. TI'.le amount
of copper deposited on cmhﬁdr. in grams is :

(At. wt of Al = 27, Cu'¥ 63.6)

w¥ PP SOSre Mgh sHd (AdS* $0DS AL (SO,), Hddw CuSO, (ESarorboa
DSWrodudie. & DS Dides =F8 54 009 (v Al ;:r;-::mwaa
&8 Q&ﬁﬁaﬁhg 5“‘-’:5 yddn meodt

(3. APS27; Cu = 63.6)

(1) m;s" (2) 31.8 (3) 0.636 (4) 3.18

Rough Work
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1538 Molar conductances of B.l.Cl H Sﬂ' and HCIl at infinite dilution are ]E’ Ji'. and X
respectively. Molar mnduclanﬂ: uf Ha.S'IJ at infinite dilution is

wicd D050 o8 BIIEI I-]:,_SD S38a%xw HCl Brerd oirfde i'hﬁ.‘.-‘-»’:ﬂ' Hl,x
S8 X, u:&nuﬁ ﬁb;‘m 3¢ BaSO, Irerd o4

() X, +X,-2X,)2 @) X, +X,-X,
# X, +X, - 2X, @) (X, + X, - X;)2

'y

159. Atoms of an element ‘A’ occupy E tetrahedral voids in the h:ng'nﬂ-ie close packed (hep)

unit cell lattice formed by the cIcmmt ‘B'. The t':-n'nulluf 1ht compuund formed by ‘A’ and
‘B is ;

‘B Saredsn DEy605 astddd ﬁalbﬂ'._i_nﬁ:j (hep) Ao cwdd Bd
wrofodt, Do T dd rbodt % S A Savol S8Srmepes u ¥ DS,
‘A’ S:8a3n ‘B'o BoTrA dorg P,

4 AB @ a8, /O .“{31 AB, @) AB,

160, Tlumnpuamm:ﬁmﬁlnfli:m:ﬂi 1nummmu1'xuu:m-3 -1 the
mzcnnsmﬂﬂTlCma 15 i ['I‘::=T

ey ﬁﬁ; ﬁ#‘u"lu' finfo 25;1'& -i.":-g 1] -.‘.'565 Do i?ﬂfﬁn 2.5 = 107 %~
wond, TK 38 Ba -_;u*n#u 5lost (M,>T)

(1 1.0 = 107 AN ) 625 =107
@ 10x10? (VY (4) 625 = 1077
Rough Work (=)
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